MILLER BUILDING SYSTEMS
METAL BUILDING DIVISION
CONSTRUCTION HANDBOOK

NOTE:

THIS CONSTRUCTION HANDBOOK DEPICTS CONDITIONS AND
ERECTION PROCEDURES FOR A STANDARD BUILDING. IN

CASE OF A CONFLICT BETWEEN THIS MANUAL AND THE ERECTION
DRAWINGS. THE ERECTION DRAWINGS WILL TAKE PRECEDENCE.

IF THERE ARE ANY QUESTIONS REGARDING PROPER ERECTION
PROCEDURES OR INSTALLATION OF PARTS OR MATERIALS. YOU
SHOULD CONTACT

MILLER BUILDINGS SYSTEMS. INC.

PLANT: (717) 866-2319

SALES OFFICE: (215) 233-9300




TABLE OF CONTENTS

CONDITIONS AT BASE. _ . _ . ___________ MS-110 BATTENLOK ROOF TRIM SECTIONS. _ .. __ __ BLT-10I
INTERIOR FRAME FLUSH GIRTS . _ . _ .. ____ MS-120 BATTENLOK ROOF TRIM SECTIONS. _ .. __ __ BLT-102
ENDWALL FRAME FLUSH GIRTS. . _______. MS-121 BATTENLOK ROOF TRIM SECTIONS. _ . ___ __ BLT-103
INTERIOR FRAME BYPASS GIRTS. . __ .. _. _MS-130 BATTENLOK ROOF TRIM SECTIONS. . .. __ BLT-104
ENDWALL FRAME BYPASS GIRTS. .. _____. MS-13l BATTENLOK ROOF TRIM SECTIONS. _ .. __ __ BLT-105
STANDARD PURLIN & GIRT LAPS. . ___ .. _. MS-140 BATTENLOK ROOF TRIM SECTIONS. _ . ___ __ BLT-106
STANDARD PURLIN & GIRT LAPS. .. _____. MS-141 DOUBLE-LOK ROOF TRIM SECTIONS. __ _ . __ DLT-IOl
EAVE STRUT CONNECTIONS. _ . _________ MS-142 DOUBLE-LOK ROOF TRIM SECTIONS. __ _ . __ DLT-102
STANDARD PUNCHING CEE'S & ZEE'S. .. __ MS-143 DOUBLE-LOK ROOF TRIM SECTIONS. ___ . __ DLT-I03
STANDARD PUNCHING EAVE STRUTS. . __ __ MS-144 DOUBLE-LOK ROOF TRIM SECTIONS. ___ . __ DLT-104
BEARING FRAME EW CEE ENDRAFTER. .. __MS-I50 DOUBLE-LOK ROOF TRIM SECTIONS. ___ . __ DLT-I05
BEARING FRAME EW MILL ENDRAFTER. . _ _._MS-I5I DOUBLE-LOK ROOF TRIM SECTIONS. ___ . __ DLT-106
ROOF BRIDGING/DIAPHRAM INSTALL - - ___ _. MS-I155 SUPERLOK ROOF TRIM SECTIONS. _ . _ ... __ SLT-10I
WALL BRIDGING INSTALLATION. _ .. ______ MS-156 SUPERLOK ROOF TRIM SECTIONS. _ . _ ... __ SLT-102
WALL PANEL INSTALLATION. _ __ . ______. MS-160 SUPERLOK ROOF TRIM SECTIONS. _ . _ ... __ SLT-103
WALL PANEL FASTENER SPACING. . _____ MS-16] SUPERLOK ROOF TRIM SECTIONS. _ . ______ SLT-104
ROOF PANEL INSTALLATION_ _ _________. MS-162 SUPERLOK ROOF TRIM SECTIONS. _ . _ ... __ SLT-105
ROOF PANEL FASTENER SPACING. .. ___ _. MS-163 SUPERLOK ROOF TRIM SECTIONS. _ . _ . ____ SLT-106
STANDARD SKYLIGHT INSTALLATION. _ .. __ MS-164 STANDARD TRIM ..o o ___________ _ST-10l
UL90 SKYLIGHT INSTALLATION. - _ . _____. MS-165 STANDARD TRIM ..o ____________ _ST-102
WALL LIGHT INSTALLATION. . _ - . ______ MS-166 STANDARD TRM_ .o . _________. _ST-103
FRAMED OPENING FOR OH DOOR_ .. _____. MS-170 STANDARD TRIM .. - ___________ _ST-104
PERSONAL DOOR INSTALLATION. __ _____ -MS-180 STANDARD TRM_ . . _________. _ST-105
WINDOW INSTALLATION W/ZEE GIRT. . ___ _. MS-190 STANDARD TRIM ..o ________ _ST-106
WINDOW INSTALLATION W/CEE GIRT_ _ ___ __ MS-191 STANDARD TRIM ..o . ________ _ST-107
WINDOW INSTALL. W/ZEE GIRT & LINER. . __MS-192 STANDARD TRIM ..o . _______ _ST-108
WINDOW INSTALL. W/CEE GIRT & LINER..__MS-193 STANDARD TRIM ..o ________ _ST-109
'PBR" ROOF TRIM SECTIONS _ .. ________._ RPT-I0I STANDARD TRIM ..o oo . ________ _ST-IIO
'PBR" ROOF TRIM SECTIONS _ . ________._ RPT-102 STANDARD TRIM ..o .. ______. ST
'PBR" WALL TRIM SECTIONS. __ _________ RPT-103 STANDARD TRIM ..o . _________ _ST-I12
'PBR" WALL TRIM SECTIONS_ __ _ ________ RPT-104 STANDARD TRIM ..o ______. _ST-II3
'PBR" ROOF FASTENER SPACING. . .. ____. RPT-105

'PBR" WALL FASTENER SPACING. _ .. ____. RPT-106

'PBR" ROOF TRIM SECTIONS. __ . ________ RPT-107

ULTRA-DEK ROOF TRIM SECTIONS. __ . _ . __ UDT-IOI

ULTRA-DEK ROOF TRIM SECTIONS. ___ .. __ UDT-102

ULTRA-DEK ROOF TRIM SECTIONS. __ . _ . __ UDT-I03

ULTRA-DEK ROOF TRIM SECTIONS. __ _ .. __ UDT-104

ULTRA-DEK ROOF TRIM SECTIONS. .. _ .. __ UDT-I05

ULTRA-DEK ROOF TRIM SECTIONS. __ _ .. __ UDT-106

ULTRA-DEK ROOF TRIM SECTIONS. _ . . ____ UbDT-107



INSIDE CLOSURE—\
SEE NOTE 4

WALL
P/\NEL\

BASE TRM— [+77

MK CT-MBS| [ v

NALN @
3-0" 0.C.

BASE ANGLE

BASE ANGLE

BASE CONDITION

ENDWALL
PANEL \

ENDWALL
" COLUMN

/— BASE GRT

) g
BASE TRM— [£" 50

MK CT-MBSI DU

ENDWALL WITH

BASE GRT CONDITION

SIDEWALL
PANEL \

=

MAN FRAME
COLUMN

BASE GRT

sase TR~ “ ’ LR

MK CT-MBsl

MAIN FRAME - BYPASS GRT

BASE GRT CONDITION

WAL
PANEL N

NALIN @

3-0' 0C. )

-

LINER
PANEL

onse TRM— :': '

MK CT-MBSI

LINER PANEL

BASE CONDITION

GENERAL NOTES

SIDEWALL
PANEL \

\ MAN FRAME
" COLUMN

e BASE GRT

BASE TRM }

MK CT-MBSI

MAN FRAME - FLUSH GRT

BASE GRT CONDITION

l. BASE ANGLE (STANDARD BASE CONDITION)
FURNISHED IN 20'-0" STANDARD LENGTHS. BASE
ANGLE SHOULD BE OMITTED AT OVERHEAD DOORS.
PERSONNEL DOORS. AND FRAMED OPENINGS. BASE
ANGLE SHOULD BE ATTACHED WITH NAILINS

SUPPLIED BY MANUFACTURER.

2. BASE GRT (OPTIONAL) FURNISHED CONTINUOUS
BETWEEN COLUMNS. MUST BE FIELD CUT AT
PERSONNEL DOORS AND ALL FIELD LOCATED

FRAMED OPENINGS,

3. BASE CHANNEL. USED WITH INTERIOR LINER PANELS,

WILL BE FURNISHED IN 20'-0" STANDARD LENGTHS.
BASE CHANNEL SHOULD BE OMITTED AT OVERHEAD
DOORS. PERSONNEL DOORS. AND FRAMED OPENINGS.

BASE CHANNEL SHOULD BE ATTACHED WITH NAILINS
SUPPLIED BY MANUFACTURER.

4. INSDE_CLOSURE (STANDARD) FURNISHED IN' 3'-0"

LENGTHS AT PERMETER OF BULDING AT ALL BASE

CONDITIONS. OMIT CLOSURE AT OVERHEAD DOORS.

PERSONNEL DOORS. AND WHEN BUILDING IS INSULATED.

311 W. LINCOLN AVE.
MYERSTOWN, PA. 17067

ERECTION STANDARDS

CONDITIONS
AT BASE

ISSUE DATE

A 25/01/98

DRAWING

MS-119




Notes:

. All Bolts Shown Are %5'#xI"
Machine Bolts UN.

2. See Roof Framing Plan For
Length Of Purlin Laps. Use
6 Bolts @ Purlin Lap Conn.

3. See Shts. MS-140 & MS-4|
For Purlin Lap Details.

4. See Sht. MS-142 For Eave
Strut Connection Details.

5, See Frame Cross Section For
Flange Brace Locations.

RAFTER OR
COLUMN WEB

2y

HLLSIDE WASHER
FLAT WASHER

|

SEE FRAME CROSS
SECTION FOR BOLT
SIZE AND QUANITY

PURLIN

RAFTER

BASE ANGLE
MK. SAl

Yrgx14r A-325 BOLTS

EAVE STRUT

SDEWALL
GRRT

311 W. LINCOLN AVE.
MYERSTOWN, PA. 17067

ERECTION STANDARDS

INTERIOR FRAME FLUSH
GIRT STRAIGHT COL.

TSSUE
A

DATE

25/01/128

DRAWING
MS-120




Notes:

. All Bolts Shown Are %5'xI"
Machine Bolts UN.

D~

gty

2
A-325 BOLTS

#2 SCREW
1
_/

X3

ENDWALL GRT

MK. SAI

SHEETING ANGLE

FIELD DRILL %" HOLES FOR
%"8x14" A-325 BOLTS

CLIP MK P30

\ £

STRAIGHT COLUMN

PURLIN

Yrgxb4m A-325 BOLTS

STRUT
RAFTER
SEE FRAME CROSS
SECTION FOR BOLT
SIZE AND QUANITY M
s > SDEWALL
ENDWALL GRT
GRT

—

SHEETNG

311 W. LINCOLN AVE.
MYERSTOWN, PA. 17067

ERECTION STANDARDS

#2 SCREW —/7

RIGID FRAME ENDWALL
FLUSH GIRT STRAIGHT COL.

TSSUE
A

DATE
25/901/28

DRAWING
MS-121




Notes:

I.  All Bolts Shown Are I/z"¢><|"
Machine Bolts U.N.

2. See Roof Framing Plan For
Length Of Purlin"Laps. Use
6 Bolts @ Purlin Lap Conn.

3. See Shts. MS-140 & MS-14|
For Purlin Lap Details.

4. See Sht. MS-142 For Eave
Strut Connection Details.

5. See Frame Cross Section For
Flange Brace Locations.

PURLIN

RAFTER

SEE FRAME CROSS
SECTION FOR BOLT
SIZE AND QUANITY

RAFTER OR

CABLE OR
COLUMN WEB

ROD BRACE

~
HILSIDE WASHER \\/’/"%/ l’o/

FLAT WASHER

BASE ANGLE
MK. SAl

Ysrgxils A-325 BOLTS

SIDEWALL
GRT

MILLER

BUILDING SYSTEMS

311 W. LINCOLN AVE.
MYERSTOWN, PA. 17067

ERECTION STANDARDS

INTERIOR FRAME BYPASS
GIRT TAPERED COL.

ISSUE DATE

A 25/01/128

DRAWING

MS-13¢




Notes:

. All Bolts Shown Are %5'#xI"
Machine Bolts UN.

FIELD DRILL %" HOLES FOR
2~2%"éx1%" A-325 BOLTS

CLIP MK P30

PURLIN

Yvgxd4r A-325 BOLTS

SHEETING ANGLE
MK. SAI

SEE FRAME CROSS
SECTION FOR BOLT
SIZE AND QUANITY

ENDWALL GRT

M SIDEWALL
GRT

SHEETING ANGLE
MK. SAI

COLUMN

311 W. LINCOLN AVE.
MYERSTOWN, PA. 17067

ERECTION STANDARDS

T RIGID FRAME ENDWALL
up SCREW_/ BYPASS GIRT TAPERED COL.

ISSUE DATE DRAWING
A @5/01/08 | MS-131




7% TOTAL LAP

2'-4" 2'-4" TYPICAL FLANGE

3333
A BRACE LOCATION 1,
| %5'8xI" MACHINE BOLT
4"#xI" MACHINE| BOLT 4 PER FRAME
4 PER FRAME
I e ot
- - - I | -
-~ O~ HO OI _=0)
\ulfwxw MACHINE BOLT
2 PER FLANGE BRACE
(TYP) g
SHORT LAP
-3k TOTAL LAP
'-1% e
|/_Ou |/_Ou
2 Y5'@x|" MACHINE BOLT
6 PER FRAME

311 W. LINCOLN AVE.
MYERSTOWN, PA. 17067

ERECTION STANDARDS

LONG LAP

STANDARD LAP DETAILS
FOR PURLINS & GIRTS

ISSUE DATE DRAWING

A 05/01/28 | MS-149




4'-34 TOTAL LAP

21-1% 2'-1%
21_01/ 2/_on 21_4u 21_4//
202 | 2 | i
Ysngxlm MACHINE BOLT Lsngylm MACHINE BOLT
/6 PER FRAME /4 PER FRAME
T T T 1 T |
1§$Q lo | of 9//6/3 (O™ lo o] 0
e e e eSS ||| e =
=z =z
= =
TR
MAX LAP FLUSH FRAME
4'-3k TOTAL LAP
2'-1% 2'-1%
3|_Ou 3,_0,,
202

Lsrgyl" MACHINE BOLT
/6 PER FRAME

311 W. LINCOLN AVE.
MYERSTOWN, PA. 17067

ERECTION STANDARDS

STANDARD LAP DETAILS
FOR PURLINS & GIRTS

SUPER LAP

ISSUE DATE DRAWING

A 05/01/28 | MS-141




Srgx4" A-325 BOLTS
2 PER EAVE STRUT

EAVE STRUT

RAFTER

COLUMN

STANDARD EAVE STRUT CONNECTION

Yl e A-325 BOLTS
(4 PER EAVE STRUT)

EAVE STRUT

COLUMN

4 BOLT EAVE STRUT CONNECTION

311 W. LINCOLN AVE.
MYERSTOWN, PA. 17067

ERECTION STANDARDS

EAVE STRUT CONNECTION
@ MAIN FRAMES

ISSUE DATE

A 05/21/28

DRAWING

MS-142




| 4 | 6 ZEE OR [EE
4.6 422 8 4 6 4% 2l 4lp| & zEE oR CEE
21|11 5% % 3| 4 (3] 10" ZEE OR CEE
Sl S8 ¥ 1% 4 44, 12 ZEE OR CEE
3% g% |I-3%4
[ ] [ ] [ N N J [ ] 4 9 * [ [
[ ] [} * 00 ; [ ] [ ] * T . J|
PUNCH PATTERN 'A’ PUNCH PATTERN ‘G’ L
333 STANDARD WEB PUNCHING
8 4 8 2226 422 8 424 41% 41
I I e ke S e S ) S N & A At 55
5% |4'5%  |3-pE 2P| 9%
203 |2l-1%4 1%
[ ] L
* [ ] s 00 [ [ I B [ ] [ 3K [ ] [ T Py o
[ [ ] 90 * * 00 L [ B [ ] .
PUNCH PATTERN 'S’
PUNCH PATTERN "B’
4 6 422 8 424 414
2-UH -0 1-3% | 5%
31 2[-1%4 9%
3'-b% 2l-3% 1%
MYERSTOWNL PA. 17067
4 [ ] * 90 0 [ ] a1 [ ] *
| | ] 1] | ERECTION STANDARDS
[ ] [ X } [ ] [ ] STANDARD PUNCHING

FOR CEE'S & ZEE'S

ISSUE DATE DRAWING

PUNCH PATTERN "T"
A 05/901/28 | MS-143




174

PUNCH PATTERN "OP'

6] |74

PUNCH PATTERN "SF’

73/4 |7

PUNCH PATTERN "TF'

|4

PUNCH PATTERN "VF'

253

PUNCH PATTERN "UF'

N
BN

(@

PUNCH PATTERN "WE"

4 10 |12

PUNCH PATTERN "XFE'

| g

LOW EAVE HIGH EAVE

STANDARD FLANGE PUNCHING

ALL HOLES %"#¢ U.N.

MILLER

BUILDING SYSTEMS

311 W. LINCOLN AVE.
MYERSTOWN, PA. 17067

ERECTION STANDARDS

STANDARD PUNCHING
FOR EAVE STRUTS

ISSUE DATE DRAWING

A 05/01/28 | MS-144




2~2% x|k |
~ 2~Y5"x1" MACHINE
A-325 BOLTS SoLrs

2-Ygmailge
A-325 BOLTS

EAVE STRUT

2~Y518x" MACHINE
BOLTS

ENDWALL GRT
ENDWALL

MLL ENDWALL COL.

iKY
L.J N\

AN
7

SDEWALL
GRT

/
¢ i—/l

CEE ENDWALL COL.
SHEETING

~ SHEETNG ANGLE M - MK. SAl
./ M A ~~ L

CORNER COL.
' |

S < 311 W. LINCOLN AVE.
I S MYERSTOWN, PA. 17067

ENDWALL

2~4518,1" MACHINE N
GRT BOLTS #2 SCREW—/ ERECTION STANDARDS

EE%WALL GRT ‘ BEARING FRAME ENDWALL
o ENDWALL W/CEE ENDRAFTER

GRT ISSUE DATE DRAWING

A 05/01/08 | MS-150




2~%"Bx15"
A-325 BOLTS

2~5"gxI" MACHINE
BOLTS

8"'5/8"¢X|I/2"
A-325 BOLTS

PURLIN

“Srguls:
-325 BOLTS

AN
A-325 BOLTS

EAVE STRUT

BOLTS

ENDWALL GRT

ENDWALL
GRT

MLL ENDWALL COL.

CEE ENDWALL COL.

S SHEETNG ANGLE Il
./ M A =1

CORNER COL. —\

2~4518,1" MACHINE

SHEETING

ENDWALL

2~55" " MACHINE

SDEWALL
GRT

S < 311 W. LINCOLN AVE.
I S MYERSTOWN, PA. 17067

GRT #2 SCREW-—/]

BOLTS

ERECTION STANDARDS

ENDWALL
GRT

ENDWALL
GRT

ENDWALL

BEARING FRAME ENDWALL
W/MILL ENDRAFTER

GRT

ISSUE DATE

A 25/01/28

DRAWING
MS-151




L2x2x)6 BRIDGING
(SEE ERECTION DRAWINGS
FOR BRIDGING LOCATIONS)

EAVE
STRUT_\):\_|

2~#12xI" HWH SELF
DRILLING SCREWS
(IN EACH BRIDGING

PURLIN
(TYP) ANGLE)
. SECTION @ ROOF BRIDGING
DIAPHRAM PLm
MK. D-I
STRUT
ERECTOR NOTE:
. J ‘ PURLIN BRIDGING TO BE ERECTED WITH ANGLES
EAVE STR T\ TOES ALTERNATING FROM ONE SIDE OF PURLIN
2~#12xI" HWH SELF TO THE OTHER SO THAT ANGLES DON'T FOUL
DRILLING SCREWS SCREWS FOR THE ANGLE FROM THE OTHER SIDE
QNPURLN 8
DIAPHRAM PLATE
MK. D-2 DIAPHRAM MK. D-3
SECTION @ LOW EAVE DI|APHRAM STRUT
PURLIN f

|

2~#|2x|" HWH SELF
DRILLING SCREWS

DIAPHRAM PLATE

MK. D-2 2~#12x|" SCREWS

9%
EAVE N——
\g STRUT MILLER
STRUT\
BUILDING SYSTEMS
2~#2xI" HWH SELF
/>DR|LUXNG o SEL SEGTION @ PURLIN DIAPHRAM TS
MYERSTOWN, PA. 17067
ERECTION STANDARDS
DIAPHRAM PLATE
MK. D-I ROOF BRIDGING/DIAPHRAM
INSTALLATION

DATE DRAWING

9ECTION @ HIGH EAVE DIAPHRAM TSSUE
A @5/01/28 | MS-155




#2x" HWH SELF
DRILLNG SCREWS

EAVE STRUT

2'x24 GA. BRIDGING
(SEE ERECTION DRAWING
FOR BRIDGING LOCATIONS)

GRT

e

SECTION AT SIDEWALL BRIDGING

#2x" HWH SELF
DRILLING SCREWS

#2x" HWH SELF
DRILLING SCREWS

GRT ﬁ
/;J

EAVE STRUT

2'x24 GA. BRIDGING
(SEE ERECTION DRAWING
FOR BRIDGING LOCATIONS)

#2x" HWH SELF
DRILLING SCREWS

HEADER

SECTION AT SIDEWALL BRIDGING

(AT HEADER CONDITION)

SHEETNG ANGLE

#2xI" HWH SELF

DRILLING SCREWS PURLIN

2'x24 GA. BRIDGNG
(SEE ERECTION DRAWING
FOR BRIDGING LOCATIONS)

GRT

e

SECTION AT ENDWALL BRIDGING

#2xI" HWH SELF
DRILLING SCREWS

SHEETNG ANGLE

#12x" HWH SELF

|
DRILLING SCREWS PURLIN

2'x24 GA. BRIDGNG
(SEE ERECTION DRAWING
FOR BRIDGING LOCATIONS)

MILLER

GRT
BUILDING SYSTEMS

#2x" HWH SELF
DRILLING SCREWS

311 W. LINCOLN AVE.
MYERSTOWN, PA. 17067

ERECTION STANDARDS

e
Ve

GIRT
WALL BRIDGING
SECTION AT ENDWALL BRIDGING INSTALLATION
ISSUE DATE DRAWING

(AT HEADER CONDITION) A

05/@1/@8 | MS-156




SsS—

RAKE TRIM

MK FL-I6

ENDWALL

PANEL

o/
o/

o/

y/

4,

RAFTER

4,

N/

4

)

7

)

4,
¥

y)

4
¥

4
¥

i

=
N
™\~ CORNER
ANGLE .
| y - -
SHEETING SHEETNG -
ANGLE |

MK. SAI

NSIDE CLOSURE

ROOF PANEL \

#2 SCREWS

SHEETING ANGLE s it
MK. SAl <

EAVE STRUT

/

]

L
VA

GIRT\l

eniere T SSSS
i

OUTSIDE CLOSURE

~—EAVE TRM
MK FL-19

™>S— TYPICAL
INTERMEDIATE
FASTENERS
#2 SCREWS

N~ TYPICAL
STITICH
FASTENERS
#14 SCREWS
® 2-0' 0.C.

™\ SDEWALL
PANEL

Iz

MK. SAl

INSDE CLOSURE

[
JAEY

BUILDING SYSTEMS

&

“—EAVE TRM

l. WALL FASTENERS TO BE COLOR

COATED TO COORDINATE WITH PANELS.

2. NOT INCLUDED WHEN BULDING
IS TO BE INSULATED.

3. FOR FASTENER SPACING SEE MS-I6l

4. NOT INCLUDED WITH FL-19 EAVE TRM.

MILLER

311 W. LINCOLN AVE.

MYERSTOWN, PA. 17067

ERECTION STANDARDS

WALL PANEL
INSTALLATION

ISSUE

MK CT-MBS50

DATE DRAWING

05/01/08 | MS-160




2l/zn 2'/211 711 5" 711 511 7!1 Izl/zu 2'/211

'PBR" #|2 SCREWS

PURLIN

BEARING
FEATURE FASTENER SPACING AT RAKE, EAVE AND BASE
36"
2'/2" |2]l |2H 9'/211 2'/211

'PBR’ #2 SCREWS

PURLIN
BEARING

FEATURE INTERMEDIATE FASTENER SPACING

STITCH FASTENER 1/4" SCREWS
TO BE PLACED AT 2'-0" 0.C.
(SEE MS-I160)

SIDELAP DETAIL

WALL PANEL FASTENER SPACING

MILLER

BUILDING SYSTEMS

311 W. LINCOLN AVE.
MYERSTOWN, PA. 17067

ERECTION STANDARDS

WALL PANEL
FASTENER SPACING

ISSUE DATE DRAWING
A @5/901/28 | MS-161




S \~\\ \\ = TYPICAL ENDLAP
RDGE \\\\\\ \\\s \X FASTENERS #2 SCREWS

UTTER STRAP
3'-0" 0.C.

GUTTER
SDWEALL PANEL

TYPICAL STITCH FASTENERS TO
BE PLACED OVER EACH PURLIN

I74" SCREW INSIDE CLOSURE < AND EAVE STRUT AND AT [-8"
CENTERS BETWEEN.
4" ROOF PANEL OVERHANG EAVE STRUT

MILLER

STEEL ROOF
ROOF PANEL .
RooF 2 INE PANEL
i
SEALANT SHEETING
STRIP ANGLE NOTES: 311 W. LINCOLN AVE.
\PURUN L ROOF FASTENERS TO MYERSTOWN, PA. 17067
WALL BE COLOR COATED TO
PANEL COORDINATE WITH PANELS. ERECTION STANDARDS
/4 2. NOT INCLUDED WHEN BULDNG
PURLIN — IS TO BE INSULATED. ROOF PANEL
3. FOR FASTENER SPACNG INSTALLATION
DETAIL "A" SECTION AT RAKE SEE MS-163
—_— ISSUE DATE DRAWING
A 25/21/28 | Ms-162




5" 711 511 7!1 I 2'/211 2'/211

PURLIN

'PBR" #|2 SCREWS

BEARNG
FEATURE FASTENER SPACNG ENDLAP
36"
24 12! 12! 9% 24"

PURLIN
BEARING
FEATURE

SEALANT STRIP
(ROOF ONLY)

'PBR’ #2 SCREWS

INTERMEDIATE FASTENER SPACING

STITCH FASTENER 1/4" SCREWS
TO BE PLACED OVER EACH
PURLIN AND EAVE STRUT AND
['-8" CENTERS BETWEEN.

(SEE MS-162)

SIDELAP DETAIL

ROOF PANEL FASTENER SPACING

MILLER

BUILDING SYSTEMS

311 W. LINCOLN AVE.
MYERSTOWN, PA. 17067

ERECTION STANDARDS

ROOF PANEL
FASTENER SPACING

ISSUE DATE DRAWING
A 25/01/08 | MS-163




TYPICAL ENDLAP
FASTENER
SEE MS-163

TYPICAL STITCH FASTENERS
(74" SCREWS) TO BE PLACED
OVER EACH PURLIN AND
I'-8" CENTERS BETWEEN.

TYPICAL
INTERMEDIATE
FASTENER
SEE MS-63
SEALANT « SKYLIGHT
STRP (TYPI RV PANEL

TYPICAL ENDLAP
FASTENER
SEE MS-163

SKYLIGHT

ROOF 'PBR" PANEL

SEALANT STRP | they comply with OS
DOUBLE RUN @

NOTES:
l. FOR ROOF PANEL INSTALLATION
SEE MS-162.

2. SKYLIGHT INSTALLATION MATERIALS:
(PER SKYLIGHT)
[2 #12 SCREWS WITH WASHERS (WHITE)
15 1/4" SCREWS WITH WASHERS (WHITE)
ONE 50" ROLL SEALANT

WARNNG: Light transmitting panels are
not designed or intended o bear the
weight of any person waking, smnding.
or resting on them. MLLER BULDIN
SYSTEMS DISCLAMS ANY
REPRESENTATION. EXPRESSED
OR MPLED. that any person can
safely wak. step. stand or rest on or
near light Transmiﬁinq_lpanels or that
A regulation.

311 W. LINCOLN AVE.
MYERSTOWN, PA. 17067

ERECTION STANDARDS

STANDARD SKYLIGHT
INSTALLATION

ISSUE DATE DRAWING

A 05/01/08 | MS-164




TYPICAL ENDLAP
FASTENER
#2 SCREWS

SEALANT
STRP (TYP)

PURLIN
2II/211 2'6" 7ll I 5" I 7II I 5" I ;
ENDLAP AND INTERMEDIATE SPACING

UL9O SKYLIGHT FASTENER SPACING

TYPICAL

INTERMEDIATE
FASTENERS

SKYLIGHT
'R" PANEL

ROOF 'PBR" PANEL

TYPICAL STITCH FASTENERS
(74" SCREWS) TO BE PLACED
OVER EACH PURLIN AND
I'-0" CENTERS BETWEEN.

'R" PANEL HAT
SECTION (TYP)

NOTES:
l. FOR ROOF PANEL INSTALLATION
SEE MS-162.

2. SKYLIGHT INSTALLATION MATERIALS:

(PER SKYLIGHT)

2 PECES OF 'R" HAT SECTION

SEALANT
STRP (TYP)

TYPICAL ENDLAP
FASTENER
#2 SCREWS

3" "PBR" PANEL
(TYP)

SEALANT
STRIP (TYP)

SKYLIGHT
‘R" PANEL

SEALANT STRIP
DOUBLE RUN @
SKYLIGHT

ENDLAP

2 PECES OF 3" R" PANEL

20 #2 SCREWS WITH WASHERS (WHITE)
24 174" SCREWS WITH WASHERS (WHITE)
ONE 50" ROLL SEALANT

WARNNG: Light transmitting panels are
not designed or intended o bear the
weight of any person waking, smnding.
or resting on them. MLLER BULDIN
SYSTEMS DISCLAMS ANY
REPRESENTATION. EXPRESSED

OR MPLED. that any person can
safely wak. step. stand or rest on or
near light Transmiﬁinq_lpanels or that
they comply with OSHA regulation.

311 W. LINCOLN AVE.
MYERSTOWN, PA. 17067

ERECTION STANDARDS

UL90 SKYLIGHT
INSTALLATION

ISSUE DATE DRAWING

A 05/01/08| MS-165




ROOF PANEL

EAVE STRUT

WALL LIGHT

PANEL
FIELD CUT WALL
PANEL TO LENGTH
REQURED AT
WALL LIGHT.

#|2 SCREWS

(TYP UN)

SEE MS-lel

FOR SPACING

174" SCREWS

@ 6" 0.C.

3" MIN. LAP

WALL PANEL /

VERTICAL SECTION THRU WALL LIGHT

i

WALL LIGHT PANEL

<

N

7
s

EAVE STRUT

GRT
§ NOTE:

FELD CUT WALL PANEL TO LENGTH
REQURED AT WALL LIGHT. WALL
PANEL TO WALL LIGHT LAP MAY BE
AT A GRT OR NEAR THE END OF
THE LIGHT PANEL. A MN LAP OF
3" IS REQURED AT BOTH LOCATIONS.

MILLER

BUILDING SYSTEMS

SHEETING 311 W. LINCOLN AVE
ANGLE MYERSTOWN, PA. 17067

MK. SAI
ERECTION STANDARDS

WALL LIGHT
INSTALLATION

ISSUE DATE DRAWING

A 05/01/08 | MS-166




END RAFTER

JAMB

172" x I" MACHINE
BOLTS

JAMB TRM ~]

|
; %’
JAMB CONNECTION AT ENDWALL :
ROOF PANEL 5
EAVE E
STRUT |
1 FELD DRLL 9/16' HOLES AND
yﬁkﬁ\( / ATTACH JAMB TO EAVE STRUT ;
£ WITH /2 x I MACHNE BOLTS ;
V2" x P ool
MACHINE o ——=z E
BOLTS /7
/7 ;
#2 SCREW —~d L= ;
al-0'oC. JT . 4] |
I il
HEAD I %
I OVERHEAD
DOOR
HEADER I opTioNAL)

NOMINAL HEIGHT

VERTICAL SECTION THRU DOOR OPENNG

s 4% T4

NOTE:
ATTACH DOOR TRM TO
FRAME WITH #[2 SCREWS.

OVERHEAD DOOR
EOPTIONAL)

#2 SCREW
JAMB a [-0' OC.
JAMB —7 L ALl PANEL
TRIM

SECTION THRU JAMB

AT SDEWALL

HEAD TRM
NOTE: ™~
EXTEND HEAD TRIM OVER THE /
TOP OF JAMB TRM. NOTCH
WALL PANEL FOR HEAD TRIM. L—1/2" x I' MACHINE
/@',/ BOLTS
]
HEADER B
¥
JAMB N
\
( 172" x I" MACHINE
JAMB ™~ BOLTS

By
b

-
B

OVERHEAD DOOR
(OPTIONAL)
LINER PANEL

JAMB JAMB TRM ATTACH TO
GRT AND BASE CHANNEL.

JAMB WALL PANEL

TRM

#2 SCREW @ [-0" 0.C.

SECTION THRU JAMB
WITH LINER PANEL

-

/

GRT

ANCHOR BOLTS

311 W. LINCOLN AVE.
MYERSTOWN, PA. 17067

ERECTION STANDARDS

FRAMED OPENING
FOR OVERHEAD DOOR

1SSUE DATE

A 25/21/28

DRAWING
MS-172




HEAD TRM

WALL PANEL
NOTE:
#2 SCREWS GRT R EXTEND HEAD TRM OVER THE
e [-0" 0.C. |f [ JAMB TRM —"1 TOP OF JAMB TRM. NOTCH
HEAD TRM J - L WALL PANEL FOR HEAD TRM.
= S —— j!’ L R
~ =~
HEADER T =
HEAD | DOOR
+ -l HEADER
WALL PANEL INTERMEDIATE i
GRT + WALL —
#2 SCREWS H PANEL |
@ [-0" O.C. L ~~— SUBFRANE
JAMB TRM CLIP
= SUBJAMB § - SBIAYE
~ L
JAMB
INTERMEDIATE
A |\ GRT -
DOOR SECTIONS < =
WALL PANEL /—LINER PANEL gtdlBPFRANE
NS /
#2 SCREWS GRT # SCREWS ] THRESHOLD
a [-0" O.C. a [-0" OC. —L| SHEETING
s ANGLE
HEAD TRM HEAD TRIM #Q“B MK. SAl
4 X—— =
= HEADER (FOR LINER PANELS EXPANSION ANCHORS
OVER 7'-4" ONLY) 2~ 1/2" x 2 3/4"
HEAD
WALL PANEL LINER PANEL
#2 SCREWS POOR JAME
#2 SCREWS A
@ [-0" 0.C. @ [-0" 0C. DOOR LEAF —~_ R - SBIATE
HEAD TRM
JAMB TRM ALUMNUM THRESHOLD —~_ [E3
o —— =
N SUBJAMB #0 x | 172" WOOD SCREW
JAMB EXPANSION SHIELD
JAMB SEALANT STRP

DOOR _SECTIONS WITH LINER PANELS

DOOR_SECTIONS THRU THRESHOLD

GENERAL NOTES

. PERSONNEL DOOR ARE TO BE FELD LOCATED AFTER
PANELING THE WALLS. THE DOOR SHOULD BE
LOCATED WITH JAMBS AT CENTER OF A MAJOR RB.

. DOOR FRAMES ARE SHPPED UNASSEMBLED FOR
FIELD ASSEMBLY.

GLASS AND PUTTY FOR GLAZING ARE NOT FURNISHED
BY MILLER BULDING SYSTEMS (UNLESS SPECIFIED)

THE FOLLOWNG INSTALLATION PROCEDURE IS FOR
INSTALLNG A DOOR UNDER STANDARD CONDITIONS.

INSTALLATION PROCEDURE

A. ASSEMBLE THE DOOR FRAME. ATTACH HEADER TO
JAMB WITH FOUR 174" x I' ROUND HEAD STOVE BOLTS.

. SET FRAME IN PLACE. PLUMB HNGE JAMB AND
ANCHOR TO FOUNDATION.

. ATTACH HEADER TO GRT WITH #2 SCREWS e I-0" O.C.
. HANG THE DOOR LEAF.

. ADJUST STRKER JAMB TO CORRECT POSITION AND
ANCHOR TO FOUNDATION.

. ATTACH HEAD AND JAMB TRM TO THE DOOR FRAME
WITH #2 SCREWS.

. STAND SUBJAMBS AGAINST DOOR JAMBS AND ATTACH
TO GRT AND FOUNDATION.

. WHEN INTERMEDIATE GRT IS USED. FELD CUT AT DOOR
AND ATTACH TO SUBJAMBS WITH TWO #2 SCREWS.

l. INSTALL THE LOCKSET USING THE INSTRUCTIONS
INCLUDED WITH THE LOCKSET.

DRILL 9/16" HOLES IN FOUNDATION FOR EXPANSION
SHEELDS. TO MATCH HOLES IN THE THRESHOLD. AND
ATTACH THERSHOLD WITH #/0 WOOD SCREWS.

3.

4.

MILLER

BUILDING SYSTEMS

311 W. LINCOLN AVE.
MYERSTOWN, PA. 17067

ERECTION STANDARDS

PERSONNEL DOOR
INSTALLATION

ISSUE DATE DRAWING

05/01/08 | MS-180




OPENING SIZE -

NOMINAL WINDOW SIZE - 3"

POP RIVET WINDOW
TO JAMBS e EA.
CORNER

FIELD CUT PANEL TO FIT
TIGHT AGAINST WINDOW
FRAME

ATTACH WALL PANEL TO
JAMBS WITH # 12 SCREW
@ 24" 0.C.

HORIZONTAL 9ECTION THRU WINDOW

VINYL BACKING FOLDED
OVER FIBERGLASS TO
PROTECT FROM WATER

N

_Y—REMOVE FIBERGLASS
FOR A MIN OF 6"

INSULATION TAB DETAIL

VINYL BACKING

WALL PANEL

TRIM LEG AS REQ'D TO FIT PANEL
(SCORE LEG WITH KNIFE @ MARKED T
LOCATION THEN BREAK WITH DUCKBILLS)

WALL PANEL

#|2 SCREW @ 6 0O.C.
(HOLD 1" ABOVE HEAD
OF WINDOW FRAME)

FIELD NOTCH WINDOW
HEAD 1/4"xl 1/2" @ EA.
JAMB TO ALLOW THE

WALL PANEL TO SLIDE
INTO THE HEAD)

GIRT

#|0 PANCAKE HD
a@ 2" 0.C.

=

s |
[N ﬁ ] i_'
o 9
W= ~ 1
NIo L
n|O N
< )
o= L AL L ~SPECIAL CEE HEADER
o| , OUTSIDE (SEE CHART FOR s
< LENGTH & MARK) =
=z L
> o
S INSIDE S
=z

#|2 SCREW @ 6" O.C.
WALL PANEL

VERTICAL 9ECTION THRU WINDOW

L

NOMINAL WINDOW SIZE

NOTES:

oo N o ul

%A INSTALL WINDOWS BEFQRE SHEETING THE BUILDING.
4. FOR BUILDINGS WITH INSULATION THE INSULATION SHQULD BE CUT SO

CARE SHOULD BE TAKEN TO INSURE THAT WINDOWS START AND STOP
IN THE LOW OF A PANEL

ATTACH WINDOW TO FRAMED OPENING WITH 4 POP RIVETS. ONE RIVET
IN EACH CORNER OF THE WINDOW.

THAT THE INSULATION EXTENDS A MINIMUM OF 6" INTO THE FRAMED
OPENING ON ALL 4 SIDE. THE FIBERGLASS SHOULD BE REMOVED FROM
THIS EXTENDED INSULATION TO FORM A VINYL TAB THAT SHOULD THEN
BE TUCKED BACK OVER THE FIBERGLASS INSULATION TO PROTECT IT
FROM WATER. (SEE INSULATION TAB DETAIL)

. FIELD CUT WALL PANELS TO FIT SNUG AGAINST THE WINDOW.
. PANELS SHOULD BE ATTACHED SO THAT SCREWS IN HEAD. SILL AND JAMBS

OF WINDOWS SCREW THRU THE WINDOW FRAME AND INTO THE STRUCTURE.

. CAULK ALL AROUND WINDOW TO CREATE A WEATHERTIGHT SEAL.
. SNAP CAP TRIM HAS A TIGHT FIT @ THE HEAD AND SILL OF THE WINDOW.

PUSH DOWN ON THE SILL WHILE CLOSING SNAP CAP TO ALLOW ENOUGH
ROOM TO KEEP IT FROM SCRATCHING THE HEAD AND SILL.

. CAULK THE ENTIRE LENGTH OF THE SNAP CAP TRIM ONTQ AND INCLUDING

THE HEAD AND SILL WITH SILICON CAULK TO MATCH THE WINDOW COLOR.

.FOR RETROFIT INSTALLATION, REMOVE WALL PANELS AND PROCEED
TO NOTE I
SPECIAL HEADER CHART
WINDOW WIDTH+ HEADER MARK | HEADER LENGTH
|'-0 SHO9 0'-9
2'-0 SH2I I'-9
3'-0 SH33 2'-9 311 W. LINCOLN AVE.
20 SH45 ) MYERSTOWN, PA. 17067
5'-0 SH57 4'-9
60 SHGO 5o ERECTION STANDARDS
7'-0 SH8I 6'-9
3.0 SHO3 7.9 WINDOW INSTALLATION
9-0 SHIOS e WITH ZEE GIRTS
* WINDOW WIDTH 1S NOMINAL WIDTH TSSUE DATE DRAWING
A @5/21/28 | MS-199




OPENING SIZE -
NOMINAL WINDOW SIZE - 3"

POP RIVET WINDOW
TO JAMBS e EA.
CORNER

FIELD CUT PANEL TO FIT
TIGHT AGAINST WINDOW
FRAME

ATTACH WALL PANEL TO
JAMBS WITH # 12 SCREW
@ 24" 0.C.

HORIZONTAL SECTION THRU WINDOW

VINYL BACKING FOLDED
OVER FIBERGLASS TO
PROTECT FROM WATER

N

_Y—REMOVE FIBERGLASS
FOR A MIN OF 6"

INSULATION TAB DETAIL

VINYL BACKING

WALL PANEL

TRIM LEG AS REQ'D TO FIT PANEL
(SCORE LEG WITH KNIFE @ MARKED T
LOCATION THEN BREAK WITH DUCKBILLS)

WALL PANEL

#|2 SCREW @ 12 0.C.
(HOLD I" ABOVE HEAD I
OF WINDOW FRAME) | TI

| =

R
N

FIELD NOTCH WINDOW
HEAD 1/4'xl 172" @ EA.
JAMB TO ALLOW THE
WALL PANEL TO SLIDE
INTO THE HEAD)

INSIDE

OPENING SIZE =
NOMINAL WINDOW SIZE -2"

OUTSIDE

#|2 SCREW @ 2" O.C.
WALL PANEL

VERTICAL SECTION THRU WINDOW

NOTES:

AW

oo N o ul

CARE SHOULD BE TAKEN TO INSURE THAT WINDOWS START AND STOP
IN THE LOW OF A PANEL

. INSTALL WINDOWS BEFQRE SHEETING THE BUILDING.
. ATTACH WINDOW TO FRAMED OPENING WITH 4 POP RIVETS. ONE RIVET

IN EACH CORNER OF THE WINDOW.

. FOR BUILDINGS WITH INSULATION THE INSULATION SHQULD BE CUT SO

THAT THE INSULATION EXTENDS A MINIMUM OF 6" INTO THE FRAMED
OPENING ON ALL 4 SIDE. THE FIBERGLASS SHOULD BE REMOVED FROM
THIS EXTENDED INSULATION TO FORM A VINYL TAB THAT SHOULD THEN
BE TUCKED BACK OVER THE FIBERGLASS INSULATION TO PROTECT IT
FROM WATER. (SEE INSULATION TAB DETAIL)

. FIELD CUT WALL PANELS TO FIT SNUG AGAINST THE WINDOW.
. PANELS SHOULD BE ATTACHED SO THAT SCREWS IN HEAD. SILL AND JAMBS

OF WINDOWS SCREW THRU THE WINDOW FRAME AND INTO THE STRUCTURE.

. CAULK ALL AROUND WINDOW TO CREATE A WEATHERTIGHT SEAL.
. SNAP CAP TRIM HAS A TIGHT FIT @ THE HEAD AND SILL OF THE WINDOW.

PUSH DOWN ON THE SILL WHILE CLOSING SNAP CAP TO ALLOW ENOUGH
ROOM TO KEEP IT FROM SCRATCHING THE HEAD AND SILL.

. CAULK THE ENTIRE LENGTH OF THE SNAP CAP TRIM ONTQ AND INCLUDING

THE HEAD AND SILL WITH SILICON CAULK TO MATCH THE WINDOW COLOR.

.FOR RETROFIT INSTALLATION. REMOVE WALL PANELS AND PROCEED

TO NOTE I

311 W. LINCOLN AVE.
MYERSTOWN, PA. 17067

ERECTION STANDARDS

WINDOW INSTALLATION
WITH CEE GIRTS

ISSUE

DATE

A 25/01/28

DRAWING

MS-191




OPENING SIZE -

POP RIVET
@ 2" 0.C.

LINER PANEL

POP RIVET WINDOW
TO JAMBS e EA.
CORNER

FIELD CUT PANEL TQO FIT
TIGHT AGAINST WINDOW
FRAME

///—FL—37

NOMINAL WINDOW SIZE - 3'
FL-37

ATTACH WALL PANEL TO
JAMBS WITH # 12 SCREW
@ 24" 0.C.

JAMB

TRIM LEG AS REQ'D TO FIT PANEL
(SCORE LEG WITH KNIFE @ MARKED
LOCATION THEN BREAK WITH DUCKBILLS)

HORIZONTAL 9ECTION THRU WINDOW

VINYL BACKING FOLDED
OVER FIBERGLASS TO
PROTECT FROM WATER

TRIM

N

_Y—REMOVE FIBERGLASS
FOR A MIN OF 6"

INSULATION TAB DETAIL ]

VINYL BACKING

WALL PANEL

#12 SCREW e 6 0.C.
(HOLD 1" ABOVE HEAD
OF WINDOW FRAME)

FIELD NOTCH WINDOW
HEAD 1/4% 1/2" & EA)
JAMB TO ALLOW THE X
WALL PANEL TO SLIDE
INTO THE HEAD)

7i-4"
+"
4!

7'-0"

OUTSIDE

OPEN SIZE =
NOMINAL WINDOW SIZE

#12 SCREW @ [2" OACAé
WALL PANEL

VERTICAL SECTION THRU WINDOW

WALL PANEL
#|0 lIIDANCAKE HD
- GIRT @ 2" 0.C.

NOTES:

2
_]J\/. 3
)\ 4
I LINER PANEL
I I POP RIVET
| @ 2" 0.C.
I \j HEAD TRIM 2
| ~ 7
! 8
FL-37 |4
SPECIAL CEE HEADER w|®  °
— (SEE CHART FOR N= g
) LENGTH & MARK) e
INSIDE =|Z
Eg
—
FL-37 S|<
=
(@}
=z
| HEAD TRIM
| POP RIVET
] e 2" 0.C.
LINER PANEL

CARE SHOULD BE TAKEN TO INSURE THAT WINDOWS START AND STOP
IN THE LOW OF A PANEL

. INSTALL WINDOWS BEFQRE SHEETING THE BUILDING.
. ATTACH WINDOW TO FRAMED OPENING WITH 4 POP RIVETS. ONE RIVET

IN EACH CORNER OF THE WINDOW.

. FOR BUILDINGS WITH INSULATION THE INSULATION SHQULD BE CUT SO

THAT THE INSULATION EXTENDS A MINIMUM OF 6" INTO THE FRAMED
OPENING ON ALL 4 SIDE. THE FIBERGLASS SHOULD BE REMOVED FROM
THIS EXTENDED INSULATION TO FORM A VINYL TAB THAT SHOULD THEN
BE TUCKED BACK OVER THE FIBERGLASS INSULATION TO PROTECT IT
FROM WATER. (SEE INSULATION TAB DETAIL)

FIELD CUT WALL PANELS TO FIT SNUG AGAINST THE WINDOW.

. PANELS SHOULD BE ATTACHED SO THAT SCREWS IN HEAD. SILL AND JAMBS

OF WINDOWS SCREW THRU THE WINDOW FRAME AND INTO THE STRUCTURE.

. CAULK ALL AROUND WINDOW TO CREATE A WEATHERTIGHT SEAL.
. SNAP CAP TRIM HAS A TIGHT FIT @ THE HEAD AND SILL OF THE WINDOW.

PUSH DOWN ON THE SILL WHILE CLOSING SNAP CAP TO ALLOW ENOUGH
ROOM TO KEEP IT FROM SCRATCHING THE HEAD AND SILL.

. CAULK THE ENTIRE LENGTH OF THE SNAP CAP TRIM ONTQ AND INCLUDING

THE HEAD AND SILL WITH SILICON CAULK TO MATCH THE WINDOW COLOR.

.FOR RETROFIT INSTALLATION, REMOVE WALL PANELS AND PROCEED
TO NOTE I
SPECIAL HEADER CHART
WINDOW WIDTH+ HEADER MARK | HEADER LENGTH
|'-0 SHO9 0'-9
2'-0 SH2I I'-9
3'-0 SH33 2'-9 311 W. LINCOLN AVE.
20 SH45 ) MYERSTOWN, PA. 17067
5'-0 SH57 4'-9
60 SHGO 5o ERECTION STANDARDS
7'-0 SH8I 6'-9
3.0 SHO3 7.9 WINDOW INSTALLATION
* WINDOW WIDTH 1S NOMINAL WIDTH TSSUE DATE DRAWING
A @5/21/28| MS-192




OPENING SIZE -
NOMINAL WINDOW SIZE - 3'

/FL—37

POP RIVET
@ 2" 0.C.

LINER PANEL

FL-37

POP RIVET WINDOW
TO JAMBS e EA.
CORNER

FIELD CUT PANEL TQO FIT

TIGHT AGAINST WINDOW ATTACH WALL PANEL TO

JAMB TRIM

VINYL BACKING FOLDED
OVER FIBERGLASS TO
PROTECT FROM WATER

N

_Y—REMOVE FIBERGLASS
FOR A MIN OF 6"

INSULATION TAB DETAIL

VINYL BACKING

WALL PANEL

TRIM LEG AS REQ'D TO FIT PANEL
(SCORE LEG WITH KNIFE @ MARKED
LOCATION THEN BREAK WITH DUCKBILLS)

l. CARE SHOULD BE TAKEN TO INSURE THAT WINDOWS START AND STOP

. INSTALL WINDOWS BEFQRE SHEETING THE BUILDING.
IN EACH CORNER OF THE WINDOW.

2
3. ATTACH WINDOW TO FRAMED OPENING WITH 4 POP RIVETS. ONE RIVET
4

. FOR BUILDINGS WITH INSULATION THE INSULATION SHQULD BE CUT SO

THAT THE INSULATION EXTENDS A MINIMUM OF 6" INTO THE FRAMED

OPENING ON ALL 4 SIDE. THE FIBERGLASS SHOULD BE REMOVED FROM
THIS EXTENDED INSULATION TO FORM A VINYL TAB THAT SHOULD THEN
BE TUCKED BACK OVER THE FIBERGLASS INSULATION TO PROTECT IT

FROM WATER. (SEE INSULATION TAB DETAIL)
. FIELD CUT WALL PANELS TO FIT SNUG AGAINST THE WINDOW.

PUSH DOWN ON THE SILL WHILE CLOSING SNAP CAP TO ALLOW
ROOM TO KEEP IT FROM SCRATCHING THE HEAD AND SILL.

. PANELS SHOULD BE ATTACHED SO THAT SCREWS IN HEAD. SILL AND JAMBS
OF WINDOWS SCREW THRU THE WINDOW FRAME AND INTO THE STRUCTURE.

. CAULK ALL AROUND WINDOW TO CREATE A WEATHERTIGHT SEAL.

. SNAP CAP TRIM HAS A TIGHT FIT @ THE HEAD AND SILL OF THE WINDOW.

ENOUGH

9. CAULK THE ENTIRE LENGTH OF THE SNAP CAP TRIM ONTO AND INCLUDING
THE HEAD AND SILL WITH SILICON CAULK TO MATCH THE WINDOW COLOR.
10. FOR RETROFIT INSTALLATION, REMOVE WALL PANELS AND PROCEED

311 W. LINCOLN AVE.
MYERSTOWN, PA. 17067

FRAME JAMBS WITH # 12 SCREW
@ 24" 0.C.
HORIZONTAL 9ECTION THRU WINDOW
NOTES:
IN THE LOW OF A PANEL
WALL PANEL
#12 SCREW @ 12 0.C. LINER PANEL
(HOLD I" ABOVE HEAD
OF WINDOW FRAME) \ HEAD TRIM
=
R a3
N
N7
FIELD NOTCH WINDOW w| >
Rl e
0 0 L
WALL PANEL TO SLIDE ) INSIDE e
INTO THE HEAD) 1 z= T0 NOTE I.
[ |
OUTSIDE °ls
FL-37 z
(@}
=z
[
/ HEAD TRIM
#2 SCREW e 12" 0.C. I

VERTICAL 9ECTION THRU WINDOW

ERECTION STANDARDS

WINDOW INSTALLATION
CEE GIRT W/LINER

ISSUE DATE

A 25/01/28

DRAWING

MS-193




GUTTER STRAP
@ 36" 0.C.

ROOF
"PBR" PANEL

#14x%§ SCREW
@ 2" 0.C.

#14x% SCREW RAKE TRIM

ROOF "PBR" PANEL

i—#IZ SCREW

@ EA PURLIN

RAKE ANGLE

GUTTER A
\

#|2 SCREW
@ 6" 0.C.

VA

#14x% SCREW
@ 2" 0.C.

SIDEWALL / EAVE STRUT OUTSIDE CLOSURE \\—PURLIN
"PBR" PANEL ENDWALL /|
_ "PBR PANEL A

EAVE WITH GUTTER RAKE TRIM

. #14x% HWH SCREW

ROOF

"PBR" PANEL ROOF "PBR"
PANEL

OUTSIDE CLOSURE

HIGH SIDE
EAVE TRIM

EAVE TRIM\

#12 SCREW

@ 6" 0.C. #|4x% SCREW

@ 12" 0.C. MILLER

#14x% SCREW
@ 2" 0.C.

BUILDING SYSTEMS

\—OUTSIDE CLOSURE

_/ EAVE STRUT
PUTEPE CHoSURE R N RO A
SDEWALL 7 S AL PR .
"PBR" PANEL — — ERECTION STANDARDS
EAVE TRIM HIGH EAVE TRIM "PBR" ROOF
TRIM SECTIONS
ISSUE DATE DRAWING
A @5/91/28 | RPT-121




ROOF "PBR" PNL.

CANOPY STRUT

#12 SCREWS
@ |2 " 0C

RAKE TRM
CT-MBS32

/ROOF "PBR" PANEL

SIDEWALL "PBR" PNL/i

ey peur

SOFFIT PANEL

PURLIN

HEAD TRIM
MK. FL-26C
[™~— SHEETING
OUTSIDE CLOSURE / ANGLE
ENDWALL "PBR" PANEL

- ‘ 7 ENDRAFTER

SEE PLAN

#14 SCREWS
@ 2' 0C
0 | [ ﬁ EAVE
U
CUTTER CT-MBS30 : STRUT
CT-MBS34 \ 'REV U* SOFFIT PANEL | UTSIDE
POP RIVET @ 24" 0C | CLOSURE
|

SECTION THRU EAVE EXTENSION

SECTION THRU GABLE EXTENSION

ROOF "PBR" PANEL
ROOF "PBR" PANEL

#|12 SCREW
@ [2 " 0C

EAVE STRUT

PURLIN

GUTTER/ /
SOFFIT TRIM

CT-MBS35

”REV PBU" J
SOFFIT PANEL

CLOSURE

'REV PBU"
SOFFIT PANEL

POP RIVET @ 24" 0C

GUTTER @ GABEL EXTENSION

RIDGE @ GABEL EXTENSION

RIDGE CAP

—

SOFFIT TRIM
CT-MBS36

311 W. LINCOLN AVE.
MYERSTOWN, PA. 17067

POP RIVET
@ [2" OC

ERECTION STANDARDS

"PBR" ROOF
TRIM SECTIONS

ISSUE DATE

A 25/21/08

DRAWING

RPT-1@2




WALL PANEL\

INSIDE CLOSURE

@ 3'-0 0.C.

<.
.
SR

SHEETING ANGLE

Yx 1" NAILIN

SHEETING ANGLE
/L4x2x|6 GA.

SEE NOTE 4\
BASE TRIM ,
MT-I T

WALL PANEL\

INSIDE CLOSURE

SEE NOTE 4 #F /BASE GIRT
BASE TRIM J
MT-I
BASE GIRT

. BASE GIRT (OPTIONAL) FURNISHED CONTINUOUS

. INSIDE CLOSURE (STANDARD) FURNISHED IN

WALL PANEL

:/LINER PANEL

Y%x 1" NAILIN
@ 3'-0 0.C.

BASE CHANNEL
8x2-4L 16 GA.

24

INSIDE CLOSURE
SEE NOTE 4\
BASE TRIM

MT-I

BASE CHANNEL

GENERAL NOTES

SHEETING ANGLE AT BASE (STANDARD)
FURNISHED IN 20'-0 LENGTHS. SHEETING
ANGLE SHOULD BE OMITTED AT OVERHEAD
DOORS. PERSONNEL DOORS. AND FRAMED
OPENINGS. SHEETING ANGLE SHOULD BE
ATTACHED WITH NAILINS SUPPLIED BY MILLER.

. BASE CHANNEL. USED WITH INTERIOR LINER

PANELS. WILL BE FURNISHED IN 20'-0
LENGTHS. BASE CHANNEL SHOULD BE
OMITTED AT OVERHEAD DOORS. PERSONNEL
DOORS. AND FRAMED OPENINGS. BASE
CHANNEL SHOULD BE ATTACHED WITH
NAILINS SUPPLIED BY MILLER.

MILLER

BETWEEN COLUMNS, WILL BE FIELD CUT IN
SOME CASES AT OVERHEAD DOORS. PERSONAL
DOORS. AND FRAMED OPENINGS.

BUILDING SYSTEMS

311 W. LINCOLN AVE.
MYERSTOWN, PA. 17067

3'-0 LENGTHS AT PERIMETER OF BUILDING ERECTION STANDARDS

AT ALL BASE CONDITIONS. OMIT CLOSURE AT

OVERHEAD DOORS. PERSONNEL DOORS. AND "PBR" WALL
WHEN BUILDING IS INSULATED. TRIM SECTIONS
TSSUE DATE DRAWING

A @5/21/08 | RPT-103




/—GIRT

ENDWALL
PBRT PANEL /CORNER COLUMN
/—GIRT
SHEETING
ANGLE —
e ——————————————
OUTSIDE CORNER\X SIDEWALL "PBR" PANEL

OUTSIDE CORNER TRIM

WALL "PBR"

PANEL

INSIDE CORNER

|

I

I\

: WALL 'PBR" PANEL
I

INSIDE CORNER TRIM

MILLER

BUILDING SYSTEMS

311 W. LINCOLN AVE.
MYERSTOWN, PA. 17067

ERECTION STANDARDS

"PBR" WALL
TRIM SECTIONS

ISSUE DATE DRAWING

A @5/901/908 | RPT-104




SIDELAP FASTENERS @ EACH PURLIN & EAVE STRUT
2 FASTEMERS BETWEEM SUPPORTS. (20" 0.C MAX SPACING)

— STICH FASTENER

#4x%5" ZAC SELF
SIDELAP FASTENER SPACING DRLLTNG SCREW

L ROPE SEAL

2424 7 4% AN AR ALY SIDELAP DETAIL

NOTE:

ATTACH ROOF PANEL TO STRUCTURE
W/#12x1" ZAC SELF DRILLING SCREWS
FOR BUILDING WITHOUT [INSULATION
FASTENER SPACING e END OF PANELS OR #12x1%" ZAC SELF DRILLING SCREWS

(TYP @ EAVE STRUTS. PANEL SPLICES. & PEAK PURLINS) FOR BUILDINGS WITH INSULATION

36" MILLER

2'/4" |2H ‘ |21/ 93/411 2'/41/

BUILDING SYSTEMS

311 W. LINCOLN AVE.
MYERSTOWN, PA. 17067

A’?MA‘?M/_\‘?M/?\T ERECTION STANDARDS

"PBR" ROOF
FASTENER SPACING e [INTERMEDIATE PURLINS FASTENER SPACING

ISSUE DATE DRAWING

A @5/21/908 | RPT-105




SI_O”
2% 00k 7 aks 7 als 7l 0M004

:#|2X|” HWH SCREW

(TYP @ PNL TO STRUCT)

30"
& 6 6 6 6 6
‘ ‘ REV‘%ﬂ ﬁNL
—y N S e W

#12x%" HWH SCREW
(TYP @ PNL TO STRUCT)

FASTENER SPACING @ PANEL END SUPPORTS

FASTENER SPACING @ PANEL END SUPPORTS
(RAKE. EAVE., BASE & PANEL SPLICE)

3-Q"
2|/4 I'-Q" I'-Q" I-0"

:#|2X|” HWH SCREW

(TYP @ PNL TO STRUCT)

(PANEL ENDS & SPLICES)

Q"
I-Q" | I'-Q" I'-Q"
‘ //—REV‘%M PNL.

V(\ 4 N
#12x74" HWH SCREW

(TYP @ PNL TO STRUCT)
FASTENER SPACING @ INTERMEDIATE SUPPORTS

FASTENER SPACING @ INTERMEDIATE SUPPORTS

WALL PANEL FASTENER SPACING

#14x2%" HWH SCREW
@ 24" 0.C.
(TYP @ PNL TO PNL)

WALL PANEL SIDELAP

(PANEL ENDS & SPLICES)
PARTITION PANEL FASTENER SPACING

MILLER

BUILDING SYSTEMS

311 W. LINCOLN AVE.
MYERSTOWN, PA. 17067

ERECTION STANDARDS

"PBR" WALL
FASTENER SPACING

ISSUE DATE

A 25/21/08

DRAWING

RPT-106




PARTITION TRIM \/\
MK. CT-MBS60

PARTITION "PBR" PANEL

ROOF "PBR" PANEL

[

I

I I
PARTITION /: I

GIRT

<~ #14 SCREW
COLUMN @ 24" 0.C.
\ PARTITION INSIDE
________________ NI CORNER
r PURLIN GIRT MK. CT-MBS7I
PARTITION TRIM _\

MK. CT-MBS6I _——  ————— = —_——
,/— /—#I4 SCREW
@ 24" 0.C.

I
I
I
I
I
I
: ~ >
/l
PARTITION "PBR' PANEL : \ /\_/
| RAFTER SIDEWALL "R" PANEL

DO NOT SCREW

W= TRIM TO THIS
SIDEWALL
VERTICAL SECTION THRU PARTITION HORIZONTAL SECTION THRU PARTITION

MILLER

BUILDING SYSTEMS

311 W. LINCOLN AVE.
MYERSTOWN, PA. 17067

ERECTION STANDARDS

"PBR" ROOF
TRIM SECTIONS

ISSUE DATE DRAWING

A @5/921/908 | RPT-107




TRI-BEAD TAPE SEALER
CONTINUQUS ACROSS
TOP OF CLOSURE

ULTRA-DEK
PANEL

FASTENER #IM (RC)
(PANEL TO EAVE PLATE
FASTENER - 8 PER PANEL)

2" LONG DOUBLE BEAD TAPE
SEALER @ PANEL RIBS OVER
INSIDE CLOSURE

GUTTER STRAP (FL-246)
@ 24" 0.C.

METAL INSIDE CLOSURE
EAVE PLATE

GUTTER STRAP

FASTENER #4
(RC)

5%

f

TRI-BEAD TAPE
SEALER

FASTENER #4
(RO)

FASTENER #4
(RC) @ 12" O.C. ULTRA-DEK

PANEL

GUTTER
FASTENER #|

TRI-BEAD TAPE (PL) @ 12" 0.C.

SEALER

FASTENER #| (PL)
(2 PER INSIDE
OFFSET PANEL CAP CLOSURE)
TRIM MK. FL-27I
EAVE STRUT

SIDEWALL "PBR" PANEL

EAVE WITH GUTTER

FASTENER #4
(RC) @ 6" 0O.C.

RIDGE FLASHING (RC)

FASTENER #IM (PL)

(3 PER PANEL)
METAL OUTSIDE
CLOSURE
TRI-BEAD
TAPE SEALER
-3 ULTRA-DEK
(&7 PANEL
BACKUP \
PLATE ;
FASTENER #M (PL) | CLIP
(6 PER PANEL) s

FASTENER #| (PL)
(2 PER CLIP)

RIDGE FLASHING

311 W. LINCOLN AVE.
MYERSTOWN, PA. 17067

ERECTION STANDARDS

ULTRA-DEK ROOF
TRIM SECTIONS

ISSUE DATE DRAWING

A @5/21/08| UDT-121




4% FASTENER #M (RC)

(PANEL TO EAVE PLATE

FASTENER - 8 PER PANEL)
[N

2" LONG DOUBLE
BEAD TAPE SEALER
@ PANEL RIBS OVER
INSIDE CLOSURE

TRI-BEAD TAPE
SEALER

METAL INSIDE CLOSURE
EAVE PLATE

FASTENER #4 (RC)

(6 PER PANEL) UL TRA-DEK
PANEL
EAVE TRIM FASTENER #|

OFFSET PANEL CAP (PL) @ 128 0.C.

TRIM MK. SF-271

FASTENER #4
(TC) @ 12" O.C.

OUTSIDE CLOSURE
SIDEWALL "PBR" PANEL

FASTENER #| (PL)
(2 PER INSIDE
CLOSURE)

EAVE STRUT

EAVE WITH EAVE TRIM

SIDEWALL "PBR* PANEL
TIE-IN TRIM \

FASTENER #4
(RC) @ 6" 0.C.

TRI-BEAD TAPE SEALER CONT.
ACROSS TOP OF CLOSURE

ULTRA-DEK

PURLIN

| —

FASTENER #4
(TC) @ 6" 0.C.

CLIP

ULTRA-DEK
PANEL

(2 PER CLIP)

EAVE STRUT

-

HIGH EAVE

TRI-BEAD TAPE SEALER
HIGH SIDE EAVE TRIM

FASTENER #IM (PL)
(3 PER PANEL)

METAL OUTSIDE

CLOSURE

BACKUP PLATE

SEALER

OUTSIDE CLOSURE

FASTENER #4
(TC) @ 12" O.C.

TRI-BEAD TAPE

FASTENER #IM (PL)
(6 PER PANEL)

SIDEWALL 'PBR" PANEL

TRIM

GIRT

BACKUP PLATE

TRI-BEAD TAPE SEALER

FASTENER #IM (PL)
(6 PER PANEL)

FASTENER #| (PL)
(2 PER CLIP)

LEAN-TO TIE-IN TRIM

MILLER

BUILDING SYSTEMS

311 W. LINCOLN AVE.
MYERSTOWN, PA. 17067

ERECTION STANDARDS

ULTRA-DEK ROOF
TRIM SECTIONS

ISSUE
A

DATE

25/21/08

DRAWING

UDT-1@2




FASTENER #IM (TC)
@ 24" 0.C.

FASTENER #I (PL)
@ 24" 0.C.

[ ULTRA-DEK PANEL

TRI-BEAD TAPE
SEALER

RAKE TRIM

RAKE SUPPORT
ANGLE

FASTENER #I2 (PL)
@ EA. PURLIN

\ PURLIN

RAKE ANGLE <

FASTENER #4
(TC) @ 12" O.C.

OUTSIDE CLOSURE

ENDWALL
'PBR" PANEL -
BEGINNING RAKE TRIM
(ON MODULE)

FASTENER #M (TC)
@ 24" 0.C.

FASTENER #l (PL)
@ 24" 0.C.

FASTENER #IM

VERIABLE TERMINATION

FASTENER #4
(TC) @ 6" 0.C.

TRI-BEAD (TC) @ 24" 0.C
TAPE SEAL DO NOT SCREW
THRU CLIP

ULTRA-DEK
PANEL

RAKE SUPPORT
ANGLE

RAKE ANGLE S

FASTENER # (PL)
@ EA. PURLIN

|
‘ \_pURLIN

FASTENER #I2 (PL)
@ EA. PURLIN

FASTENER #4
(TC) @ 12" 0.C.

OUTSIDE CLOSUREj

ENDWALL — |

'PBR" PANEL

BEGINNING RAKE TRIM
(OFF MODULE)

FASTENER #IM (TC)

@ 24" 0.C. TRI-BEAD TAPE
FASTENER #l (PL) SEALER
@ 24" 0.C.

ULTRA-DEK PANEL —\

RAKE TRIM

RAKE SUPPORT

<

ANGLE

FASTENER #I2 (PL)

@ EA. PURLIN RAKE ANGLE

FASTENER #4

(TC) @ 12" O.C.

RAKE SLIDE

(FLOATING SYSTEMS ONLY)

PURLIN/

OUTSIDE CLOSURE

ENDWALL
"PBR" PANEL

TERMINATION RAKE TRIM

FASTENER #IM (TC)

@ 24" 0.C.
FASTENER #| (PL)
@ 24" 0.C.
FASTENER #IM
(TC) @ 24" 0.C
DO NOT SCREW
THRU CLIP

ULTRA-DEK
PANEL

(ON MODULE)

VERIABLE TERMINATION

FASTENER #4
(TC) @ 6" 0.C.

TRI-BEAD
TAPE SEALER

RAKE TRIM

- RAKE SUPPORT
— ? ; ANGLE
PANEL CLIP
< RAKE ANGLE
FASTENER #| (PL) i
‘2 PER CLIP ‘ FASTENER #4
(TC) @ 12" 0.C.
PURLIN —/ 311 W. LINCOLN AVE.
OUTSIDE CLOSURE MYERSTOWN, PA. 17067
S 07 | [“—pom [ BREcTion sTANDARDS

TERMINATION RAKE TRIM

ULTRA-DEK ROOF
TRIM SECTIONS

(OFF MODULE)

DRAWING
UDT-123

DATE

25/21/08

ISSUE
A




GUTTER STRAP

FASTENER #4

(RC)
FASTENER #IM (RC)

(PANEL TO EAVE PLATE
FASTENER - 8 PER PANEL)

2" LONG DOUBLE BEAD TAPE
SEALER @ PANEL RIBS OVER
INSIDE CLOSURE

METAL INSIDE CLOSURE

TRI-BEAD TAPE
SEALER

FASTENER #4
(RC)

ULTRA-DEK PANEL

FASTENER #| (PL)
GUTTER STRAP (FL-246) (2 PER INSIDE CLOSURE) (2 PER CLIP)
& 240 0.C. (MAX) EAVE PLATE
FASTENER #| (PL) @ 2" OC
GUTTER CANOPY STRU
I
FASTENER #4 | EAVE STRUT
(RC) / ; I #14 SCREWS
CT-MBS34 CT-MBS30 | (TC) @ 12" OC
| OUTSIDE
#12 SCREWS "REV U" | CLOSURE
(SC) @ 12 " 0C SOFFIT PANEL /I
POP RIVET (TC) @ 24" OC SIDEWALL PANEL L\/

SECTION THRU EAVE EXTENSION

311 W. LINCOLN AVE.
MYERSTOWN, PA. 17067

ERECTION STANDARDS

ULTRA-DEK ROOF
TRIM SECTIONS

ISSUE DATE DRAWING

A @5/21/08| UDT-104




GUTTER STRAP
FASTENER #M (RC)
(PANEL TO EAVE PLATE

DOUBLE BEAD
TAPE SEAL

RAKE TRIM
MK. FL-IlI

SHEETING
ANGLE

FASTENER #M (TC)
@ 24" 0.C.

FASTENER #
(PL) @ 24" 0.C.

LOW RAKE SUPPORT ANGLE

K‘ULTRA—DEK PANEL

FASTENER #I2 (PL)
@ EA. PURLIN

T

\ PURLIN

FASTENER #4 f #14 SCREW
(RC) FAS;E'ERNG SOEEEEPQEEE) B SCREW—" | (TC) @ 24" 0C
(TC) @ 24" OC
SEALER ® PANEL RIBS OVER HEAD TRIM SHEETING ANGLE
% INSIDE CLOSURE SOEFIT PNL— MK. FL—26C/
GUTTER STRAP (FL-246) A
TRI-BEAD a 24" 0.C. (MAX) ENDWALL PANEL | OUTSIDE CLOSURE
TAPE SEALER METAL INSDE CLOSURE SEE PLAN

LOW EAVE PLATE

FASTENER #4
(RC)

ULTRA-DEK PANEL

FASTENER #I
(PL) @ 12" 0.C.
FASTENER #l (PL)

(2 PER INSIDE CLOSURE)

FASTENER #4
(RC) @ 12" O.C.

TRI-BEAD
TAPE SEALER

GUTTER

SOFFIT TRIM
CT-MBS35

#|2 SCREWS
(SC) @ 2 " 0C

SOFFIT PANEL
POP RIVET (TC) @ 24" OC

GUTTER @ GABLE EXTENSION

SECTION THRU GABLE EXTENSION

311 W. LINCOLN AVE.
MYERSTOWN, PA. 17067

ERECTION STANDARDS

ULTRA-DEK ROOF
TRIM SECTIONS

ISSUE DATE

A 25/21/08

DRAWING
UDT-125




FASTENER #4
(RC) @ 6" OC

TRI-BEAD TAPE SEALER
CONTINUQUS ACROSS
TOP OF CLOSURE

ULTRA-DEK
PANEL

RIDGE FLASHING (RC)

FASTENER #IM (PL)

(3 PER PANEL)
METAL OUTSIDE
CLOSURE
TRI-BEAD
TAPE SEALER
/£ ULTRA-DEK
'T@’" PANEL
=

FASTENER #IM (PL) |

PURLIN (6 PER PANEL)

SOFFIT PANEL

FASTENER #I (PL)
(2 PER CLIP)

CT-MBS36

POP RIVET
(SC) @ 12" OC

RIDGE @ GABLE EXTENSION

CLOSURE

MILLER

BUILDING SYSTEMS

311 W. LINCOLN AVE.
MYERSTOWN, PA. 17067

ERECTION STANDARDS

ULTRA-DEK ROOF
TRIM SECTIONS

ISSUE DATE DRAWING

A @5/21/08| UDT-106




PARTITION TRIM

MK. CT-MBS60
/ULTRA-DEK ROOF PANEL
J‘[t\ I JTL

PARTITION TRIM
MK. CT-MBS6I

PARTITION "PBR' PANEL/

VERTICAL SECTION

K;_‘CUEUN

\SHEETING

ANGLE

\RAFTER

THRU PARTITION

[

I

I I
PARTITION /: I

GIRT

COLUMN\

PARTITION "PBR" PANEL

#4 SCREW
@ 24" 0.C.

PARTITION INSIDE
CORNER
MK. CT-MBS7I

T7==——= _—#14 SCREW
) " e 240 0.C,

SIDEWALL "R" PANEL /\_/

DO NOT SCREW
TRIM TO THIS
SIDEWALL

HORIZONTAL SECTION THRU PARTITION

MILLER

BUILDING SYSTEMS

311 W. LINCOLN AVE.
MYERSTOWN, PA. 17067

ERECTION STANDARDS

ULTRA-DEK ROOF
TRIM SECTIONS

ISSUE DATE DRAWING

A @5/21/08 | UDT-107




FASTENER #4 (RC)

GUTTER STRAP

FASTENER #4
(RO)

FASTENER #4
(RC) @ 12" O.C.

GUTTER

TRI-BEAD TAPE
SEALER

OFFSET PANEL CAP
TRIM MK. FL-271

SIDEWALL "PBR" PANEL

EAVE WITH GUTTER

7

FASTENER #4
(RC) @ 6" O.C.

TRI-BEAD TAPE SEALER
CONTINUQUS ACROSS
TOP OF CLOSURE

BATTENLOK

PANEL -

PURLIN

ZB/-\CKUP
PLATE

(5 PER PANEL)

FASTENER #M (RC)
(PANEL TO EAVE PLATE
FASTENER - 4 PER PANEL)

FASTENER #| (PL)
(2 PER CLIP)

GUTTER STRAP (FL-246) RIDGE FLASHING

FASTENER #IM (PL)

RIDGE FLASHING (RC)

FASTENER #IM (PL)
(ONE PER PANEL)

METAL OUTSIDE
CLOSURE

TRI-BEAD
TAPE SEALER

BATTENLOK
PANEL

CLIP

@ 32" 0.C.

EAVE PLATE

BATTENLOK
PANEL

TRI-BEAD TAPE SEALER

FASTENER #|
(PL) @ 12" O.C.

EAVE STRUT

311 W. LINCOLN AVE.
MYERSTOWN, PA. 17067

ERECTION STANDARDS

BATTENLOK ROOF
TRIM SECTIONS

ISSUE DATE

A 25/21/08

DRAWING
BLT-1@1




FASTENER #M (RC)
(PANEL TO EAVE PLATE

FASTENER #4
FASTENER - 4 PER PANEL) 10 & 6 0c

TRI-BEAD TAPE EAVE PLATE CLIP

SEALER
BATTENLOK

FASTENER #4 PANEL

(RC) @ 2" O.C.
BATTENLOK

EAVE TRIM

OFFSET PANEL CAP

(PL) @ 2" O.C.
TRIM MK. SF-271 (2 PER CLIP)

FASTENER #4
(TC) @ 2" 0.C. _/////
OUTSIDE CLOSURE_/////

SIDEWALL "PBR" PANEL _

EAVE STRUT EAVE STRUT

EAVE WITH EAVE TRIM

g PANEL 2
TRI-BEAD TAPE SEALER _/////
FASTENER #| FASTENER #I (PL)

TRI-BEAD TAPE SEALER
HIGH SIDE EAVE TRIM
FASTENER #IM (PL)

METAL OQUTSIDE
CLOSURE

BACKUP PLATE

TRI-BEAD TAPE
SEALER

FASTENER #IM (PL)
(5 PER PANEL)

\
FASTENER #4
(TC) @ 12" 0.C.
OUTSIDE CLOSURE

\\\—ﬂDEWALL "PBR" PANEL

A

HIGH EAVE TRIM

SIDEWALL "PBR* PANEL —~_ ]
TIE-IN TRIM _\\\\
FASTENER #4
(RC) @ 6" 0.C.

TRI-BEAD TAPE SEALER CONT.
ACROSS TOP OF CLOSURE

BATTENLOK PANEL

GIRT

| —

BACKUP PLATE
TRI-BEAD TAPE SEALER

FASTENER #IM (PL)
(5 PER PANEL)

FASTENER #| (PL)
(2 PER CLIP)

PURLIN

LEAN-TO TIE-IN TRIM

311 W. LINCOLN AVE.
MYERSTOWN, PA. 17067

ERECTION STANDARDS

BATTENLOK ROOF
TRIM SECTIONS

ISSUE DATE DRAWING

A @5/21/98 | BLT-1&2




FASTENER #M (TC)
@ 24" 0.C.

FASTENER #l (PL)
@ 24" 0.C.

—/BATTENLOK PANEL

TRI-BEAD TAPE
SEAL

RAKE TRIM

RAKE SUPPORT
ANGLE

FASTENER #I2 (PL)
@ EA. PURLIN

\\—PURUN

RAKE ANGLE

FASTENER #4
(TC) @ 12" 0.C.

OUTSIDE CLOSURE

ENDWALL
'PBR" PANEL —
BEGINNING RAKE TRIM
(ON MODULE)

FASTENER #IM (TC)
a@ 24" 0.C.
FASTENER #l (PL)
@ 24" Q.C.

VERIABLE TERMINATION
FASTENER #4

(TC) @ 6" 0.C. FASTENER #IM
(TC) @ 24" 0.C
TRI-BEAD DO NOT SCREW
TAPE SEAL THRU CLIP
BATTENLOK
RAKE TMM—\\\\ PANEL
RAKE SUPPORT —
ANGLE
g

RAKE ANGLE FASTENER #| (PL)

@ EA. PURLIN

/' -
\—PURLIN

FASTENER #I2 (PL)
@ EA. PURLIN

FASTENER #4
(TC) @ 12" O.C.

OUTSIDE CLOSURE—)f‘

ENDWALL
"PBR" PANEL

BEGINNING RAKE TRIM
(OFF MODULE)

FASTENER #M
@ 24" Q0.C.

FASTENER #l
@ 24" 0.C.

BATTENLOK PANEL \‘

FASTENER #I2 (PL)
@ EA. PURLIN

PURLIN/

RAKE SLIDE

(FLOATING SYSTEMS ONLY)

TRI-BEAD
TAPE SEAL

ANGLE

@ [2" 0.C.

ENDWALL

TERMINATION RAKE TRIM

FIELD CUT TOP OF
PANEL RIB SO ONLY
THE VERTICAL LEG
OF PANEL REMAINS.

RAKE TRIM

RAKE SUPPORT

RAKE ANGLE

FASTENER #4

OUTSIDE CLOSURE

"PBR" PANEL

(ON MODULE)

FASTENER #M (TC)

@ 24" 0.C.
FASTENER #I (PL) VERIABLE TERMINATION
@ 24" O.C. FASTENER #4
FASTENER #IM (TC) @ 6" 0.C.
(TC) @ 24" 0.C
DO NOT SCREW TRI-BEAD
THRU CLIP TAPE SEALER
BATTENLOK
PANEL _\\\ RAKE TRIM
— — — RAKE SUPPORT
PANEL CLIP ANGLE
<
FASTENER #| (PL) RAKE ANGLE
(2 PER CLIP)
f FASTENER #4
PURLIN (TC) @ 12" 0.C
FASTENER #I2 (PL) OUTSIDE CLOSURE
@ EA. PURLIN ENDWALL

"PBR" PANEL
TERMINATION RAKE TRIM

(OFF MODULE)

311 W. LINCOLN AVE.
MYERSTOWN, PA. 17067

ERECTION STANDARDS

BATTENLOK ROOF
TRIM SECTIONS

ISSUE
A

DATE

25/21/08

DRAWING
BLT-123




FASTENER #4 (RC)
GUTTER STRAP

FASTENER #| (PL)
@ [2" 0.C.

FASTENER #IM (RC)
(PANEL TO EAVE PLATE
FASTENER - 4 PER PANEL)

TRI-BEAD
TAPE SEALER

CLIP

FASTENER #4

(RC) \\BATTENLOK PANEL

\\\—FASTENER # (PL)
(2 PER CLIP)
GUTTER STRAP (FL-246)
@ 32' 0.C. (MAX)
FASTENER #4
(RC)
: EAVE STRUT
GUTTER I #14 SCREWS
) (TC) @ 12" 0C
CT-MBS34 CT-MBS30 | SUTSDE
#12 SCREWS 'REV U" : CLOSURE
(SC) @ 12 " 0C SOFFIT PANEL -J//,
POP RIVET (TC) @ 24" OC SIDEWALL PANEL L\/

SECTION THRU EAVE EXTENSION

311 W. LINCOLN AVE.
MYERSTOWN, PA. 17067

ERECTION STANDARDS

BATTENLOK ROOF
TRIM SECTIONS

ISSUE DATE DRAWING

A @5/201/08| BLT-104




FASTENER #4 (RC)

GUTTER STRAP FASTENER #IM (RC)

(PANEL TO EAVE PLATE
FASTENER - 4 PER PANEL)

GUTTER STRAP (FL-246)
@ 32" 0.C.

EAVE PLATE

FASTENER #4
(RC)

FASTENER #4

(RC) @ 12" O.C. BATTENLOK

PANEL
TRI-BEAD TAPE SEALER

FASTENER #|
(PL) @ 12" O.C.

GUTTER

TRI-BEAD
TAPE SEALER

SOFFIT TRIM
CT-MBS35

#|2 SCREWS
(SC) @ 2 " 0C

SOFFIT PANEL
POP RIVET (TC) @ 24" OC

GUTTER @ GABLE EXTENSION

TRI-BEAD
TAPE SEAL

RAKE TRIM

SHEETING
ANGLE

FASTENER #IM (TC)
@ 24" 0.C.

FASTENER #l (PL)
@ 24" 0.C.

RAKE SUPPORT ANGLE

/~—BATTENLOK PANEL

FASTENER #[2 (PL)
@ EA. PURLIN

T

#|4 SCREW
#l4 SCREW—" | (TC) @ 24" OC
(TC) @ 24" OC
HEAD TRIM SHEETING ANGLE
SOFFIT PNL—] MK. FL-26C |

/—w—

ENDWALL PANEL OUTSIDE CLOSURE

SEE PLAN

SECTION THRU GABLE EXTENSION

MILLER

BUILDING SYSTEMS

311 W. LINCOLN AVE.
MYERSTOWN, PA. 17067

ERECTION STANDARDS

BATTENLOK ROOF
TRIM SECTIONS

ISSUE
A

DATE

25/21/08

DRAWING
BLT-125




RIDGE FLASHING (RC)

FASTENER #IM (PL)
(ONE PER PANEL)

METAL OUTSIDE

FASTENER #4
(RC) @ 6" 0.C.

TRI-BEAD TAPE
SEALER CONT. CLOSURE
ACROSS TOP
TRI-BEAD
OF CLOSURE TAPE SEALER
/§ BATTENLOK

(4 PER PANEL)

FASTENER #IB (PL)
(2 PER CLIP)

PURLIN

BATTENLOK = ;
PANEL - \0;‘. PANEL
\\ £FASTENER #17 (PL) | \\\\_
[ CLIP

CT-MBS36

POP RIVET
(SC) @ 12" OC

SOFFIT PANEL

CLOSURE

RIDGE @ GABLE EXTENSION

MILLER

BUILDING SYSTEMS

311 W. LINCOLN AVE.
MYERSTOWN, PA. 17067

ERECTION STANDARDS

BATTENLOK ROOF
TRIM SECTIONS

ISSUE DATE DRAWING

A @5/21/08 | BLT-106




FASTENER #4
(RC) @ 6" 0O.C.

TRI-BEAD TAPE SEALER
CONTINUQUS ACROSS
TOP OF CLOSURE

DOUBLE-LOK
PANEL

GUTTER STRAP FASTENER #M (RC)

FASTENER #4
,///FYRC)

5%

FASTENER - 8 PER PANEL)

2" LONG DOUBLE BEAD TAPE
SEALER @ PANEL RIBS OVER
INSIDE CLOSURE

GUTTER STRAP (FL-246)
@ 24" 0.C.

METAL INSIDE CLOSURE
EAVE PLATE

TRI-BEAD TAPE
SEALER

FASTENER #4
(RO)

FASTENER #4
(RC) @ 12" O.C. DOUBLE-LOK

PANEL

GUTTER
FASTENER #|

TRI-BEAD TAPE (FL) @ 127 0.C.
SEALER FASTENER #| (PL)
(2 PER INSIDE
OFFSET PANEL CAP CLOSURE)
TRIM MK. FL-271
EAVE STRUT

SIDEWALL "PBR" PANEL

EAVE WITH GUTTER

(PANEL TO EAVE PLATE PURLIN

RIDGE FLASHING (RC)

FASTENER #IM (PL)
(3 PER PANEL)

TRI-BEAD
TAPE SEALER

METAL OUTSIDE

CLOSURE
7/ DOUBLE-LOK
(8 PANEL
| o]
= "iiiiil-.---
BACKUP \
PLATE ;
FASTENER #M (PL) | CLIP
(6 PER PANEL) s

FASTENER #| (PL)
(2 PER CLIP)

RIDGE FLASHING

311 W. LINCOLN AVE.
MYERSTOWN, PA. 17067

ERECTION STANDARDS

DOUBLE-LOK ROOF
TRIM SECTIONS

TSSUE DATE DRAWING
A @5/91/08| DLT-121




2" LONG DOUBLE
BEAD TAPE SEALER
@ PANEL RIBS OVER
INSIDE CLOSURE

4%

FASTENER #M (RC)
(PANEL TO EAVE PLATE
FASTENER - 8 PER PANEL)

METAL INSIDE CLOSURE
EAVE PLATE

TRI-BEAD TAPE
SEALER

N

X
4

FASTENER #4 (RC)

(6 PER PANEL) DOUBLE-LOK
PANEL
EAVE TRIM FASTENER #|

OFFSET PANEL CAP (PL) @ 128 0.C.

TRIM MK. SF-271

FASTENER #4
(TC) @ 12" O.C.

OUTSIDE CLOSURE
SIDEWALL "PBR" PANEL

FASTENER #| (PL)
(2 PER INSIDE
CLOSURE)

EAVE STRUT

EAVE WITH EAVE TRIM

SIDEWALL "PBR* PANEL —~_ ]
TIE-IN TRIM _\\\\
FASTENER #4
RC) @ 6' 0.C.

TRI-BEAD TAPE SEALER CONT.
ACROSS TOP OF CLOSURE

DOUBLE-LOK PANEL

PURLIN

LEAN-TO TIE-IN TRIM

| —

TRI-BEAD TAPE SEALER

FASTENER #IM (PL)
(6 PER PANEL)

FASTENER #| (PL)
(2 PER CLIP)

TRI-BEAD TAPE SEALER
HIGH SIDE EAVE TRIM

FASTENER #IM (PL)
(3 PER PANEL)

METAL OUTSIDE
CLOSURE

BACKUP PLATE

FASTENER #4
(TC) @ 6" 0.C.

CLIP

DOUBLE-LOK
PANEL

TRI-BEAD TAPE
SEALER

FASTENER #| (PL FASTENER #IM (PL)
(2 PER CLIP) : (6 PER PANEL)
FASTENER #4
(TC) @ 12" 0.C.
EAVE STRUT OUTSIDE CLOSURE
t§\—$DEWALL "PBR’ PANEL
HIGH EAVE TRIM
GIRT

BACKUP PLATE

MILLER

BUILDING SYSTEMS

311 W. LINCOLN AVE.
MYERSTOWN, PA. 17067

ERECTION STANDARDS

DOUBLE-LOK ROOF
TRIM SECTIONS

ISSUE DATE DRAWING

A @5/921/908| DLT-1@2




FASTENER #IM (TC)
@ 24" 0.C.

FASTENER #I (PL)
@ 24" 0.C.

TRI-BEAD TAPE
SEALER

RAKE TRIM

RAKE SUPPORT
ANGLE

FASTENER #I2 (PL)
@ EA. PURLIN <

\\—PURUN

RAKE ANGLE

FASTENER #4
(TC) @ 12" O.C.

OUTSIDE CLOSURE

ENDWALL
'PBR" PANEL -
BEGINNING RAKE TRIM
(ON MODULE)

FASTENER #M (TC)
@ 24" 0.C.

FASTENER #l (PL)
@ 24" 0.C.

FASTENER #IM

VERIABLE TERMINATION

FASTENER #4
(TC) @ 6" 0.C.

TRI-BEAD (TC) @ 24" 0.C
TAPE SEAL DO NOT SCREW
THRU CLIP

DOUBLE-LOK
PANEL

RAKE SUPPORT
ANGLE

RAKE ANGLE S

FASTENER # (PL)
FASTENER #4 @ EA. PURLIN
(TO) @ 12" 0.,

AT <
OUTSIDE CLOSURE ‘ PURLIN

[ FASTENER #I2 (PL)
"EPNB[I)QW/TDI?‘\LNEL @ EA. PURLIN

BEGINNING RAKE TRIM
(OFF MODULE)

[ DOUBLE-LOK PANEL

FASTENER #IM (TC)
@ 24" 0.C.

FASTENER #l (PL)
@ 24" 0.C.

DOUBLE-LOK PANEL —\

FASTENER #I2 (PL)
< @ EA. PURLIN

TRI-BEAD TAPE
SEALER

RAKE TRIM

RAKE SUPPORT
ANGLE

RAKE ANGLE

FASTENER #4

(TC) @ 12" O.C.

PURUN—//

RAKE SLIDE

(FLOATING SYSTEMS ONLY)

OUTSIDE CLOSURE

ENDWALL
"PBR" PANEL

TERMINATION RAKE TRIM

(ON MODULE)

FASTENER #IM (TC)

@ 24" 0.C. VERIABLE TERMINATION
FASTENER #| (PL) FASTENER #4

@ 24" 0.C. (TC) @ 6" 0.C.
FASTENER #IM TRI-BEAD

(TC) @ 24" 0.C N

DO NOT SCREW TAPE SEALER
THRU CLIP

DOUBLE-LOK RAKE TRIM

PANEL

_ RAKE SUPPORT
— f?z' ANGLE
PANEL CLIP
> RAKE ANGLE
FASTENER #| (PL) I
(2 PER CLIP) : FASTENER #4
— %\_ (TC) @ 12' 0.C.
PURLIN OUTSIDE CLOSURE
FASTENER #I2 (PL) ~~_
ENDWALL
@ EA. PURLIN \ "PBR" PANEL

TERMINATION RAKE TRIM
(OFF MODULE)

311 W. LINCOLN AVE.
MYERSTOWN, PA. 17067

ERECTION STANDARDS

DOUBLE-LOK ROOF
TRIM SECTIONS

DRAWING

DLT-123

ISSUE DATE

A 25/21/08




GUTTER STRAP

FASTENER #4

(RC)
FASTENER #IM (RC)

(PANEL TO EAVE PLATE
FASTENER - 8 PER PANEL)

2" LONG DOUBLE BEAD TAPE
SEALER @ PANEL RIBS OVER
INSIDE CLOSURE

METAL INSIDE CLOSURE

TRI-BEAD TAPE
SEALER

FASTENER #4
(RC)

(2 PER INSIDE CLOSURE) 2 PER CLIP)
EAVE PLATE

FASTENER #| (PL) @ 12" OC
CANOPY STRU

GUTTER STRAP (FL-246)
@ 24" 0.C. (MAX)

GUTTER
I
FASTENER #4 | EAVE STRUT
(RC) / ; I #14 SCREWS
CT-MBS34 CT-MBS30 | (TC) @ 12" OC
| OUTSIDE
#12 SCREWS "REV U" | CLOSURE
(SC) @ 12 " 0C SOFFIT PANEL /I
POP RIVET (TC) @ 24" OC SIDEWALL PANEL L\/

SECTION THRU EAVE EXTENSION

311 W. LINCOLN AVE.
MYERSTOWN, PA. 17067

ERECTION STANDARDS

DOUBLE-LOK ROOF
TRIM SECTIONS

ISSUE DATE DRAWING

A @5/201/08| DLT-104




GUTTER STRAP FASTENER #M (RC)

(PANEL TO EAVE PLATE

DOUBLE BEAD
TAPE SEAL

RAKE TRIM
MK. FL-IlI

SHEETING
ANGLE

FASTENER #M (TC)
@ 24" 0.C.

FASTENER #
(PL) @ 24" 0.C.

LOW RAKE SUPPORT ANGLE

K‘DOUBLE—LOK PANEL

FASTENER #I2 (PL)
@ EA. PURLIN

T

\ PURLIN

AS -8 A #14 SCREW
I R L L
(TC) @ 24" OC
SEALER @ PANEL RIBS OVER HEAD TRIM SHEETING ANGLE
=% INSIDE CLOSURE SOFFIT PNL—] MK. FL—26C/
GUTTER STRAP (FL-246) A
TRI-BEAD @ 24" 0.C. (MAX) ENDWALL PANEL — OUTSIDE CLOSURE
TAPE SEALER METAL INSDE CLOSURE SEE PLAN

LOW EAVE PLATE

FASTENER #4
(RC)

DOUBLE-LOK PANEL

FASTENER #I
(PL) @ 12" 0.C.
FASTENER #l (PL)

(2 PER INSIDE CLOSURE)

FASTENER #4
(RC) @ 12" O.C.

TRI-BEAD
TAPE SEALER

GUTTER

SOFFIT TRIM
CT-MBS35

#|2 SCREWS
(SC) @ 2 " 0C

SOFFIT PANEL
POP RIVET (TC) @ 24" OC

GUTTER @ GABLE EXTENSION

SECTION THRU GABLE EXTENSION

MILLER

BUILDING SYSTEMS

311 W. LINCOLN AVE.
MYERSTOWN, PA. 17067

ERECTION STANDARDS

DOUBLE-LOK ROOF
TRIM SECTIONS

ISSUE DATE

A 25/21/08

DRAWING
DLT-125




FASTENER #4
(RC) @ 6" OC

TRI-BEAD TAPE SEALER
CONTINUQUS ACROSS
TOP OF CLOSURE

DOUBLE-LOK
PANEL

: SO %
Vv PANEL
/ = | AR

RIDGE FLASHING (RC)

FASTENER #IM (PL)
(3 PER PANEL)

METAL OUTSIDE
CLOSURE

TRI-BEAD
TAPE SEALER

DOUBLE-LOK

FASTENER #IM (PL) |

PURLIN (6 PER PANEL)

SOFFIT PANEL

FASTENER #I (PL)
(2 PER CLIP)

CT-MBS36

POP RIVET
(SC) @ 12" OC

RIDGE @ GABLE EXTENSION

CLOSURE

MILLER

BUILDING SYSTEMS

311 W. LINCOLN AVE.
MYERSTOWN, PA. 17067

ERECTION STANDARDS

DOUBLE-LOK ROOF
TRIM SECTIONS

ISSUE DATE DRAWING

A @5/21/08| DLT-106




FASTENER #4

(RO)

FASTENER #4
(RC) @ 12" O.C.

GUTTER
TRI-BEAD TAPE

SDEWALLPBRPANEL/////"l_qI

SEALER

OFFSET PANEL CAP
TRIM MK. FL-271

FASTENER #4
(RC) @ 6" O.C.

TRI-BEAD TAPE
SEALER CONT
ACROSS TOP
OF CLOSURE

SUPERLOK

PANEL -

PURLIN

FASTENER #4 (RC)

GUTTER STRAP FASTENER #IM (RC)

(PANEL TO EAVE PLATE
FASTENER - 4 PER PANEL)

GUTTER STRAP (FL-246)
@ 32" 0.C.

EAVE PLATE

SUPERLOK
PANEL

TRI-BEAD TAPE SEALER

FASTENER #[7
(PL) @ 12" O.C.

EAVE STRUT

EAVE WITH GUTTER

RIDGE FLASHING (RC)

FASTENER #IM (PL)
(ONE PER PANEL)

METAL OUTSIDE

CLOSURE
TRI-BEAD
TAPE SEALER
§ SUPERLOK
!; PANEL
BACKUP d -
PLATE 5
FASTENER #I7 (PL) | CLIP
(4 PER PANEL) |

FASTENER #IB (PL) L
(2 PER CLIP)

RIDGE FLASHING

311 W. LINCOLN AVE.
MYERSTOWN, PA. 17067

ERECTION STANDARDS

SUPERLOK. ROOF
TRIM SECTIONS

ISSUE DATE DRAWING

A @5/21/08| SLT-121




FASTENER #IM (RC)
(PANEL TO EAVE PLATE FASTENER #4
FASTENER - 4 PER PANEL) (TC) @ 6" 0.C.

EAVE PLATE CLIP

SUPERLOK
PANEL

TRI-BEAD TAPE
SEALER

FASTENER #4
(RC) @ 2" O.C.

SUPERLOK
PANEL

TRI-BEAD TAPE SEALER

FASTENER #I7 FASTENER #IB (PL)
(PL) @ 12" O.C. (2 PER CLIP)

EAVE TRIM
OFFSET PANEL CAP
TRIM MK. SF-27I

FASTENER #4
(TC) @ 12" O.C.

OUTSIDE CLOSURE::;:;;

SIDEWALL "PBR" PANEL _

EAVE STRUT EAVE STRUT

Illl?‘llldigggih

A

TRI-BEAD TAPE SEALER
HIGH SIDE EAVE TRIM
FASTENER #I7 (PL)

METAL OUTSIDE
CLOSURE

BACKUP PLATE

TRI-BEAD TAPE
SEALER

FASTENER #17 (PL)
(4 PER PANEL)

FASTENER #4
(TC) @ 12" O.C.

OUTSIDE CLOSURE

\\\—ﬂDEWALL "PBR" PANEL

EAVE WITH EAVE TRIM HIGH EAVE TRIM

SIDEWALL "PBR* PANEL —~_ ]
TIE-IN TRIM _\\\\
FASTENER #4
(RC) @ 6" 0.C.

TRI-BEAD TAPE SEALER CONT.
ACROSS TOP OF CLOSURE

SUPERLOK PANEL

GIRT

| —

BACKUP PLATE
TRI-BEAD TAPE SEALER
FASTENER #I7 (PL)

(4 PER PANEL)

FASTENER #IB (PL)
(2 PER CLIP)

PURLIN

LEAN-TO TIE-IN TRIM

311 W. LINCOLN AVE.
MYERSTOWN, PA. 17067

ERECTION STANDARDS

SUPERLOK ROOF
TRIM SECTIONS

ISSUE DATE DRAWING

A @5/01/08| SLT-1@2




FASTENER #M (TC)
@ 24" 0.C.

FASTENER #l (PL)
@ 24" 0.C.

—/SUPERLOK PANEL

TRI-BEAD TAPE
SEAL

RAKE TRIM

RAKE SUPPORT
ANGLE

FASTENER #I2 (PL)
@ EA. PURLIN

\\—PURUN

RAKE ANGLE

FASTENER #4
(TC) @ 12" 0.C.

OUTSIDE CLOSURE

ENDWALL
'PBR" PANEL —
BEGINNING RAKE TRIM
(ON MODULE)

FASTENER #IM (TC)
a@ 24" 0.C.
FASTENER #l (PL)
@ 24" Q.C.

VERIABLE TERMINATION
FASTENER #4

(TC) @ 6" 0.C. FASTENER #IM
(TC) @ 24" 0.C
TRI-BEAD DO NOT SCREW
TAPE SEAL THRU CLIP
SUPERLOK
PANEL

RAKE TRIM
\

RAKE SUPPORT
ANGLE
g
RAKE ANGLE FASTENER #| (PL)
@ EA. PURLIN
FASTENER #4 \_
(TC) @ 12" 0.C. _;f PURLIN
OUTSIDE CLOSURE ‘ FASTENER #12 (PL)
ENDWALL @ EA. PURLIN
"PBR" PANEL
BEGINNING RAKE TRIM
(OFF MODULE)

FASTENER #M
@ 24" Q0.C.

FASTENER #l
@ 24" 0.C.

SUPERLOK PANEL \‘

FASTENER #I2 (PL)
@ EA. PURLIN

PURLIN/

RAKE SLIDE

(FLOATING SYSTEMS ONLY)

TRI-BEAD
TAPE SEAL

FIELD CUT TOP OF
PANEL RIB SO ONLY
THE VERTICAL LEG
OF PANEL REMAINS.

RAKE TRIM

RAKE SUPPORT
ANGLE

RAKE ANGLE

FASTENER #4
@ [2" 0.C.

OUTSIDE CLOSURE

ENDWALL
"PBR" PANEL

TERMINATION RAKE TRIM

(ON MODULE)

FASTENER #M (TC)

@ 24" 0.C.
FASTENER #I (PL) VERIABLE TERMINATION
@ 24" O.C. FASTENER #4
FASTENER #IM (TC) @ 6" 0.C.
(TC) @ 24" 0.C
DO NOT SCREW TRI-BEAD
THRU CLIP TAPE SEALER
SUPERLOK
PANEL _\\\ RAKE TRIM
— — — RAKE SUPPORT
PANEL CLIP ANGLE
<
FASTENER #| (PL) RAKE ANGLE
(2 PER CLIP)
f FASTENER #4
PURLIN (TC) @ 12" 0.C
FASTENER #I2 (PL) OUTSIDE CLOSURE
@ EA. PURLIN ENDWALL

"PBR" PANEL
TERMINATION RAKE TRIM

(OFF MODULE)

311 W. LINCOLN AVE.
MYERSTOWN, PA. 17067

ERECTION STANDARDS

SUPERLOK ROOF
TRIM SECTIONS

ISSUE
A

DATE

25/21/08

DRAWING

SLT-123




FASTENER #4 (RC)
GUTTER STRAP

FASTENER #I7 (PL)
@ [2" 0.C.

FASTENER #IE (RC)
(PANEL TO EAVE PLATE
FASTENER - 4 PER PANEL)

TRI-BEAD
TAPE SEALER

CLIP

FASTENER #4

(RC) \\SUPERLOK PANEL

\FASTENER #IB (PL)
(2 PER CLIP)
GUTTER STRAP (FL-246) EAVE PLATE
@ 32" 0.C. (MAX)
CANOPY STRUT 7
FASTENER #4 / 4
: EAVE STRUT
GUTTER I #14 SCREWS
CT-MBS34 CT-MBS30 | (TC) @ 12" OC
| OUTSIDE
#12 SCREWS "REV U" | CLOSURE
(SC) @ 12 " 0C SOFFIT PANEL /I
POP RIVET (TC) @ 24" OC SIDEWALL PANEL L\/

MILLER

SECTION THRU EAVE EXTENSION

BUILDING SYSTEMS

311 W. LINCOLN AVE.
MYERSTOWN, PA. 17067

ERECTION STANDARDS

SUPERLOK ROOF
TRIM SECTIONS

ISSUE DATE DRAWING

A @5/201/08| SLT-104




FASTENER #4 (RC)

GUTTER STRAP FASTENER #IM (RC)

(PANEL TO EAVE PLATE
FASTENER - 4 PER PANEL)

GUTTER STRAP (FL-246)
@ 32" 0.C.

EAVE PLATE

FASTENER #4
(RC)

FASTENER #4

(RC) @ 12" O.C. SUPERLOK

PANEL
TRI-BEAD TAPE SEALER

FASTENER #I7
(PL) @ 12" O.C.

GUTTER

TRI-BEADTAPE
SEALER

SOFFIT TRIM
CT-MBS35

#|2 SCREWS
(SC) @ 2 " 0C

SOFFIT PANEL
POP RIVET (TC) @ 24" OC

GUTTER @ GABLE EXTENSION

FASTENER #IM (TC)
@ 24" 0.C.

FASTENER #l (PL)
@ 24" 0.C.

RAKE SUPPORT ANGLE

TRI-BEAD TAPE

SEAL
SUPERLOK PANEL
RAKE TRIM /
FASTENER #12 (PL) r
SHEETING @ EA. PURLIN
ANGLE
% \PURLIN
#4 SCREW
#14 SCREW/ (TC) @ 24" OC
(TC) @ 24" 0C
HEAD TRIM SHEETING ANGLE
SOFFIT PNL—] MK. FL—26C/|
ENDWALL PANEL— —— ‘—OUTSIDE CLOSURE
SEE PLAN

SECTION THRU GABLE EXTENSION

MILLER

BUILDING SYSTEMS

311 W. LINCOLN AVE.
MYERSTOWN, PA. 17067

ERECTION STANDARDS

SUPERLOK ROOF
TRIM SECTIONS

ISSUE DATE

A 25/21/08

DRAWING

SLT-185




RIDGE FLASHING (RC)

FASTENER #4

(RC) @ 6" 0.C. FASTENER #IM (PL)

(ONE PER PANEL)

TRI-BEAD TAPE METAL OUTSIDE

SEALER CONT. CLOSURE
ACR0SS TOP

sU TRI-BEAD
OF CLOSURE TAPE SEALER

SUPERLOK 2 SUPERLOK

\ FASTENER #17 (PL) | \\\\_
PURLIN (4 PER PANEL) | cLp

FASTENER #IB (PL) |
(2 PER CLIP) ‘

CT-MBS36

POP RIVET
(SC) @ 12" OC

SOFFIT PANEL

CLOSURE

RIDGE @ GABLE EXTENSION

PANEL -/ Ezf,‘. PANEL

MILLER

BUILDING SYSTEMS

311 W. LINCOLN AVE.
MYERSTOWN, PA. 17067

ERECTION STANDARDS

SUPERLOK ROOF
TRIM SECTIONS

ISSUE DATE DRAWING

A @5/901/08| SLT-106




Y

[ ||
AV ANGLE - 90°
- ANGLE OF
ol = ROOF PITCH
N )y COLOR ]
. /i ANGLE - 180
N - 2xANGLE OF
ROOF PITCH
COLOR
XL\ PURLIN EXT. TRIM ~ MK. CT-MBS36
GIRTH-7
PURLIN EXT. TRIM ~ MK, CT-MBS35 CT-MBS36 x 10'-2
GIRTH-=13% 5 11 e
CT-MBS35 x [0'-2 156° '
CT-MBS35A x 20'-2 A
Lol so N A\ Z¥
56° A o ” L 135¢
A SNEEN 102°
O @9
o| ¥ Z¥ = ok \\j %
\m e 135° R — ﬁ
SN se \\/ 102° ¥ Ao
- 2 >
" Y coLor—"]
N ~ ﬁ 2| 3
~ d -
(R PNL ROOF & R PANEL SOFFIT
coLor—" 10" PURLINS) MILLER
21 3 EXT. RAKE TRIM ~ MK. CT-MBS38
GIRTH 263/ BUILDING SYSTEMS
(R PNL ROOF & U PANEL SOFFIT -26%
10" PURLINS) iassas 1 1907, MYERSTOWN. PA. 17067
EXT. RAKE TRIM ~ MK. CT-MBS37 ERECTION STANDARDS
7
GIRTH-25% METAL BUILDING

CT-MBS37 x 10'-2
CT-MBS37A x 20'-2

STANDARD TRIM

ISSUE DATE DRAWING

1@/15/@7 ST-101




MILLER

BUILDING SYSTEMS

311 W. LINCOLN AVE.
MYERSTOWN, PA. 17067

ERECTION STANDARDS

METAL BUILDING

I56° ” I56°
o M o
o e Pl 135 o "L 135
NN 102° XN 102°
| wn ~N mua
= %) > o ™ >
o\ — N —
© - ©
COLOR—/ _/
o s COLOR | s
(R PNL ROOF & U PANEL SOFFIT
F g Al (R PNL RO(|)2F" %UELFNASA;EL SOFFIT
EXT. RAKE TRIM ~ MK. CT-MBS39
GIRTH-27% 2% EXT. RAKE TRIM ~ MK. CT-MBS4y
CT-MBS39 x 10'-2 Y
CT-MBS39A x 20'-2 A
VN CT-MBS40A x 20'-2
M
e o X
X L |02
156°
e |02°
=Yg
COLOR—/
2| 34
(ULTRA-DEK ROOF & U PANEL SOFFIT
8" PURLINS)
EXT. RAKE TRIM ~ MK, CT-MBS41
GIRTH-22%

CT-MBS4l x 10'-2
CT-MBS4lIA x 20'-2

STANDARD TRIM

ISSUE

DATE

1@/15/@7

DRAWING

ST-1@2




NS 102°

AN R ’ﬁ

m 1
2134

(ULTRA-DEK ROOF & R PANEL SOFFIT

8" PURLINS)

EXT. RAKE TRIM ~ MK. CT-MBS42

2%

COLORA\W

| I56°
N 102°
=

LN

2N uﬁﬁt
i 020 A

2

(ULTRA-DEK ROOF & U PANEL SOFFIT
3 10" PURLINS)

EXT. RAKE TRIM ~ MK. CT-MBS43

GIRTH-22%

CT-MBS42 x 10'-2
CT-MBS42A x 20'-2

N\ ”ﬂ
P\ o — ™M
Y ¥ 102
156°

NS 102°
s\ p
o f
m —1
21 3%
(ULTRA-DEK ROOF & R PANEL SOFFIT
10" PURLINS)
EXT. RAKE TRIM ~ MK. CT-MBS44
GIRTH=24%

CT-MBS44 x 10'-2
CT-MBS44A x 20'-2

GIRTH-24%
CT-MBS43 x 10'-2
CT-MBS43A x 20'-2

311 W. LINCOLN AVE.
MYERSTOWN, PA. 17067

ERECTION STANDARDS

METAL BUILDING
STANDARD TRIM

ISSUE DATE DRAWING

1@/15/@7 ST-123




2| 3%

(ULTRA-DEK ROOF & U PANEL SOFFIT
12" PURLINS)

EXT. RAKE TRIM ~ MK. CT-MBS45

2%

COLORAW

A"O o — ™M)
Y Aa 102
156°

GIRTH-26%
CT-MBS45 x 10'-2
CT-MBS45A x 20'-2

A 102°
|\ Iy
« il
'\ 1
21 34
(ULTRA-DEK ROOF & R PANEL SOFFIT
12" PURLINS)
EXT. RAKE TRIM ~ MK. CT-NMBS46
GIRTH-26%

CT-MBS46 x 10'-2
CT-MBS46A x 20'-2

MILLER

BUILDING SYSTEMS

311 W. LINCOLN AVE.
MYERSTOWN, PA. 17067

ERECTION STANDARDS

METAL BUILDING
STANDARD TRIM

ISSUE DATE DRAWING

1@/15/87 ST-104




7 I
COLOR 8
g
ox’ 102° |
~ Y
\g 156° ,U
= 102°
M\V
ANGLE - 90° =
- ANGLE OF
ROOF PITCH

("R" PANEL ROOF)
LOW EAVE TRIM ~ MK. CT-NMBS5Y

GIRTH-18%
CT-MBS50 x 10'-2
CT-MBS50A x 20'-2

o N
o I ANTYE P
. 56°
o) > 102°
N
ANGLE = 90° -

- ANGLE OF
ROOF PITCH

('S-36" & "7.2" PANEL ROOF)
LOW EAVE TRIM ~ MK. CT-MBS52

COLOR — I::——————T
%)\

e .

S| Z\\ 02 UJ2

‘@ 156°
= IS 102°
BN
ANGLE - 90° =
- ANGLE OF
ROOF PITCH

("U" PANEL ROOF)

LOW EAVE TRIM ~ NMK. CT-NMBS51

GIRTH=19
CT-MBS5I x 10'-2
CT-MBS5IA x 20'-2

ANGLE - 90°
- ANGLE OF
ROOF PITCH

) %

EAVE EXT. TRIM ~ MK. CT-MBS53

GIRTH-18%
CT-MBS52 x 10'-2
CT-MBS52A x 20'-2

GIRTH-13%

MILLER

BUILDING SYSTEMS

311 W. LINCOLN AVE.
MYERSTOWN, PA. 17067

CT-MBS53 x 10'-2

ERECTION STANDARDS

METAL BUILDING
STANDARD TRIM

ISSUE DATE DRAWING

1@/15/@7 ST-105




ANGLE - 90°

- ANGLE OF
ROOF PITCH
NN
I
M
COLOR

EAVE EXT. TRIM ~ MK. CT-MBS54

GIRTH-12%
CT-MBS54 x 10'-2

ANGLE = 90°
+ ANGLE OF
ROOF PITCH

:

COLOR

TIE-IN TRIM ~ MK. CT-MBS56

4
/Jﬁ\)\—

N~ COLOR

EAVE EXT. TRIM ~ MK. CT-MBS55

GIRTH-II%
CT-MBS56 x 10'-2

GIRTH-9%
CT-MBS55 x 10'-2

MILLER

BUILDING SYSTEMS

311 W. LINCOLN AVE.
MYERSTOWN, PA. 17067

ERECTION STANDARDS

METAL BUILDING
STANDARD TRIM

ISSUE

DATE

1@/15/@7

DRAWING

ST-1¢6




e fz\\

™~ 130
el

NN 102°

) IS /%

iy =
COLOR—]
2| 3

(R PNL ROOF & NO SOFFIT)

EXT. RAKE TRIM ~ MK, CT-MBS57

GIRTH-23%
CT-MBS57 x 10'-2
CT-MBSS57A x 20'-2

ANGLE - 90°
+ ANGLE OF
ROOF PITCH

;

COLOR

3
5%

TIE-IN TRIM ~ MK. CT-MBS59

2%

COLORA\W

| —
S\ ~
5 “Zi\\ 020 & N

156°
N 102°
N — | T’Z(
N =
2134

(ULTRA-DEK ROOF & NO SOFFIT
8" PURLINS)

EXT. RAKE TRIM ~ MK. CT-MBS58

GIRTH-124
CT-MBS59 x 10'-2

GIRTH=213%%
CT-MBS58 x 10'-2
CT-MBS58A x 20'-2

MILLER

BUILDING SYSTEMS

311 W. LINCOLN AVE.
MYERSTOWN, PA. 17067

ERECTION STANDARDS

METAL BUILDING
STANDARD TRIM

ISSUE DATE DRAWING

1@/15/@7 ST-107




3
Y
- \\\\—COLOR

ﬁ{: |

(8" PURLINS)
PARTITION TRIM ~ MK. CT-MBS6J

T "\
AN
A
o~ Ao
COLOR

PARTITION TRIM ~ VK. CT-MBS6!

GIRTH-13%
CT-MBS60 x 5'-0

Ny

o \
o COLOR

i}: !

(10" PURLINS)
PARTITION TRIM ~ MK, CT-MBS62

GIRTH=I15%
CT-MBS62 x 5'-0

GIRTH-3%

CT-MBS6I x 14'-2

MILLER

BUILDING SYSTEMS

311 W. LINCOLN AVE.
MYERSTOWN, PA. 17067

ERECTION STANDARDS

METAL BUILDING
STANDARD TRIM

ISSUE DATE DRAWING

1@/15/@7 ST-108




N S— l\
COLOR

MASONRY TRIM ~ MK. CT-MBS63

GIRTH=5
CT-MBS63 x 14'-2

0%
/—COLOR
M AN A M
L= | B SEEN

("R" PANEL FRONT AND BACK)

FASCIA TRIM ~ MK. CT-MBS65

COLOR

r 1
Ny

W

FASCIA TRIM ~ MK. CT-MBS64

GIRTH-12Y4
CT-MBS64 x 14'-2
104
COLOR
//_
M _\N _\N M
N — | — S

("R" PANEL FRONT AND "U" BACK)

FASCIA TRIM ~ MK. CT-MBS66

GIRTH-17%4
CT-MBS65 x 14'-2

GIRTH-17Y4
CT-MBS66 x 14'-2

311 W. LINCOLN AVE.
MYERSTOWN, PA. 17067

ERECTION STANDARDS

METAL BUILDING
STANDARD TRIM

ISSUE DATE DRAWING

\@/15,/07 ST-199




COLOR COLOR
/_ /_
pd pd
w| o [P ¢ '3;25 A8
1 | R SN e e 3_5&:

("U" PANEL FRONT AND BACK) N %

FASCIA TRIM ~ MK. CT-MBS6&7 ("R" PANEL FRONT AND BACK)

GIRTH=16% - _
o7 CRTH-I6% FASCIA TRIM ~ MK. CT-MBS68
GIRTH-23%

CT-MBS68 x 14'-2

104
COLOR
/_
e

Ne 135° ae
™ 225° M
SN\ % _\N\\: =]
o % N ™ MILLER

BUILDING SYSTEMS

("R" PANEL FRONT AND "U" BACK)

311 W. LINCOLN AVE.
MYERSTOWN, PA. 17067

FASCIA TRIM ~ VK. CT-MBS&9
ERECTION STANDARDS

GIRTH-22%
CT-MBS69 x 14'-2 METAL BUILDING
STANDARD TRIM
ISSUE DATE DRAWING

1@/15/@7 ST-110




9%

—COLOR
e 35° e
™ 225° m
Av“ AN AN ™ |
N% = = % N

("U" PANEL FRONT AND BACK)

FASCIA TRIM ~ MK. CT-MBS7@

PARTITION INSIDE CORNER ~ MK. CT-MBS*¥!

GIRTH-2I
CT-MBS70 x 14'-2

3
COLOR T\
i\
AR
o
U _\Na‘

EAVE EXTENSION TRIM ~ MK. CT-MBS72

GIRTH=17
CT-MBS71 x 14'-2

GIRTH-14
CT-MBS72 X 10'-2

MILLER

BUILDING SYSTEMS

311 W. LINCOLN AVE.
MYERSTOWN, PA. 17067

ERECTION STANDARDS

METAL BUILDING
STANDARD TRIM

ISSUE DATE DRAWING

1@/15/@7 ST-1i1




%6

%6
ANGLE - 90° ANGLE - 90°
+ ANGLE OF = + ANGLE OF o
ROOF PITCH WX ROOF PITCH =
ANGLE - 90° ANGLE - 90°
Vi - ANGLE OF A - ANGLE OF
) ROOF PITCH N ROOF PITCH
(U PANEL SOFFIT) (R PANEL SOFFIT)
EAVE EXT. TRIM ~ MK. CT-MBS¥3 EAVE EXT. TRIM ~ MK, CT-MBS¥4
GIRTH-6 GIRTH-64% ,
CT-MBS73 x 14'-2 5 1 e CT-MBS74 x 14'-2
|56°;25¥T——————Tiji ;1
1%
5 1% 14 e B i[\\ Z\¥j o f
I56° 7 A ”\ 130
ST ° =
;iix N se 102
o Y Z¥ - ™ > |/
w " KL\\ 130° A *f/’ ”ﬁ 3
~ s _— N
NN 102° A
= ) > I 4 EAVE EXT. TRIM ~ MK. CT-MBS¥7¥
’ﬁ COLOR
NS — 21 3 GIRTH-10
o~ A CT-MBS77 x 14'-2
- (R PNL ROOF & R PANEL SOFFIT)
COLOR
21 3 EXT. RAKE TRIM ~ MK. CT-MBS¥6
MILLER

(R PNL ROOF & U PANEL SOFFIT)

EXT. RAKE TRIM ~ MK. CT-MBS*5

GIRTH-24%
CT-MBS76 x 10'-2
CT-MBS76A x 20'-2

BUILDING SYSTEMS

311 W. LINCOLN AVE.
MYERSTOWN, PA. 17067

GIRTH-23%
CT-MBS75 x 10'-2
CT-MBS75A x 20'-2

ERECTION STANDARDS

METAL BUILDING
STANDARD TRIM

ISSUE DATE DRAWING

1@8/15/@7 ST-112




DRIP FLASHING ~ MK. CT-MBS¥8

GIRTH-8%
CT-MBS78 x 14'-2

ANGLE - 180 -
ANGLE OF THE
ROOF PITCH

135°

(@ BLDG PEAK WITH IST PURLIN DOWN 2")
INSULATION TRIM ~ VK. CT-MBS8!

|
5 /4 5

3 34

ANGLE - 180 - ANGLE - 180
ANGLE OF THE ANGLE OF THE
ROOF PITCH

ROOF PITCH
COLOR

135°
(@ BLDG PEAK WITH IST PURLIN DOWN 9"
INSULATION TRIM ~ MK. CT-MBS8@

GIRTH-18%
CT-MBS80 x 14'-2

ANGLE - 180 -
ANGLE OF THE
ROOF PITCH

COLOR MILLER

BUILDING SYSTEMS

311 W. LINCOLN AVE.
MYERSTOWN, PA. 17067

ERECTION STANDARDS

GIRTH-25%

CT-MBS8I x 14'-2

METAL BUILDING
STANDARD TRIM

ISSUE DATE DRAWING

12/19/0¢ ST-113




